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RMS3IDX = Analyze Things for Prolog 3 Indexed f IE-S -1984 23:56:4 AX=11 Bliss=32 v&.0-74
' 9 9 ved F 1L-3e0C198¢ f1:3%:48 FANALY 2SR Rme3 Dk Bss-1

% Ititle "RMS3IDX - Analyz? Things for Prolog 3 Indexed Files'

28

module rms3idx

00 ident="v04=000"') = begqi
2 1, i
9' . i'...'..'."""'Q".'.""""'."."'..""."""..."."."'."'..."""
‘e
0Ly is COPYRIGHT (c) 1978, 1980, 1982, 1984 BY
0009 1 i= DIGITAL EQUIPMENT CORPORATION, MAYNARD, MASSACHUSETTS.
00 i ALL RIGHTS RESERVED.

*

*

*

. L
‘e *
'« THIS SOFTWARE IS FURNISHED UNDER A LICENSE AND MAY BE USED AND COPIED v
'* ONLY IN ACCORDANCE WITH THE TERMS OF SUCH LICENSE AND WITH THE *
'* INCLUSION OF THE ABOVE COPYRIGHT NOTICE. THIS SOFTWARE OR ANY OTHER *
'* (COPIES THEREOF MAY NOT BE PROVIDED OR OTHERWISE MADE AVAILABLE TO ANY *
'* QOTHER PERSON. NO TITLE TO AND OWNERSHIP OF THE SOFTWARE IS HEREBY *
'!* TRANSFERRED. *
*

"

k

L

*

*

k

*

*

2883883883883888

PORIPIRI PRI PINININ b b i e o e e

|
1
1
0 1
SN
g 1
1
& 1
&%
? 1
8 1
9 1 ! THE INFORMATION IN THIS SOFTWARE IS SUBJECT TO CHANGE WITHOUT NOTICE
0020 1 !+ AND SHOULD NOT BE CONSTRUED AS A COMMITMENT BY DIGITAL EQUIPMENT
8 5 } 5' CORPORATION.
*
0023 1 != DIGITAL ASSUMES NO RESPONSIBILITY FOR THE USE OR RELIABILITY OF ITS
8 g } E' SOF TWARE ON EQUIPMENT WHICH IS NOT SUPPLIED BY DIGITAL.
L
1 !e
80 9 ] R R R R R R R R R R R R R R R R R R R R N R R R R R R R P R R R R R R R RN RN RN R RN RN NRRNERRNR
0028 1!
0029 1
0030 1 !ee
88%; } E Facility: VAX/VMS Analyze Facility, Analyze Things for Prolog 3
0033 1 ! Abstract: This module is responsible for analyzing various structures
003¢ 1! in prolog 3 indexed files, Those routines that are common
0035 1! to prolog 2 and 3 can be found in RMS2IDX.
0036 1!
0037 1! i
0038 1 ! Environment:
0039 1!
882? } % Author: Paul (. Anagnostopoulos, Creation Date: 26 June 1981
882 } ; Modified By:
0044 1 ! v03-007 PCAIONM Paul C. Anagnostopoulos 1-Apr-1983
0045 1! Change the message prefix to ANLRMSS_  to ensure that
0046 1 ! message symbols are unique across all ANALYZEs. This
882; } ; is necessitated by the new merged message files.
0049 1! v03-006 PCA1007 Paul C. Anagnostopoulos 10 Feb 1983
0050 1! Add suBRort for recovery unit items in the primary data
0051 1! and SIDR records. This required a new routine to calculate
0052 1! the lengths of the various garts of a pr1uarl data record,
882‘ ; : since that calculation has become diabolically complex,
0055 1! v03-006 PCA1001 Paul (. Anagnostopoulos 11-0ct-1982
0056 } ; Add support for prologue 3 SIDRs.



RMS3IDX

v03-005

v03-004
v03-003

1
1
1
1
1
1
1
1
1
B
0068 1 !
9 } .
} v03-002
1
1
1
1
1
1
1

= Analyze Things for Prolog 3 Indexed f 15'50 -1984 23: AX=11 Blis =32 v4.0-742
4 « o To-tenoio8e §1:35:88  YAnalvsdiatsamestoalass?y

PCAD0100 Paul C. Ana?nostopoulos 1=0ct=1982
Remove code that displayed the Last duplicate bucket
pointer in the bucket trailer. That pointer was

not used in V5, but the code was left in.

PCA0060 Paul Anagnostopoulos 9-Mar-1982
Changed the way the index record statistics were
calculated to make them parallel to the data record.

PCADOS1 Paul Ana?nostopoulos 26-mar-1982
The statistics callback that specified the nominal
length of the data record did not include the key.

PCA0004 Paul Anagnostopoulos 16-Mar-1982
The key significance count is no longer present in
the data bucket trailer.

PCAOOD3 Paul Anaanostopoulos 16=-Mar-1982
A bug in ANLS3RECLAIMED BUCKET_MWEADER caused it to
sometimes think the bucket header was not at the
beginning of the bucket.
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RMS3IDX RMS3IDX = Analyze Things for Prolog 3 Indexed f 1?-5 -1984 23:56:4 AX=11 Bliss=32 v&.0-742
v0t-600 Module Docloro!‘ons 9 ’ e 1‘-5:3-193‘ ¥1:23:58 !ANALVZ?S!E RMS3IDX.B32;1

?sbttl '‘Module Declarations'
é Libraries and Requires:

1

winY
=4
Ny —

wn

Library "Lib";
require ‘rmsreq’;

]
g Table of Contents:

forward routine
onl3§bucket header,

20223842

anl$3reclaimed_bucket_header,
anl$3index_record,
anl$3primary_data_record,
anl$3format_data_bytes: novalue,
calculate_data_record_info: novalue,
anl$3sidr_record,

anl$3sidr_pointer;

]
; External References:

S
Eﬁ%ﬁiiﬁ?ggg

— i ) ) - —h - —d ) ) —d - = —d ) ) — D D D D el el il ol il D il el D el el el D il il el D il il il el el ) D e el

external routine
anlSbucket,
anl$bucket_callback,
anl$check_Flags,
anl$data_callback,
anl$format_error,
anl$format_flags,
anl$format_hex,
anl$format_Lline,
anl$format_skip,
anl$index_callback,
anlS$reclaimed_bucket_callback;

external
anl$gb_mode: byte
anl$gl_fat: ref b[ock[.byte].
anl$gw_prolog: word;

]
g Own Variables:

Rt A A A S AR

WWLRIWNNWNNONOMNOMNONONINONONIN) = S b Db b bt b
S NN = OO ~NO NI NN = OO0 NN NI NN =

RN ISIF AR as 223833 3R 2028 880200002838

— il ) D ) i i el i D i ) e e ) ) ) il ) ol D e il D e ) el
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H13
ze Things for Prolog 3 Indexed f 1S-S¢p-19gk 3:5 :‘8
DER = Print and Check a Bucket H 14=Sep=1984 11:52:5

¥2?“‘ "ANLS3BUCKET_MEADER = Print and Check a Bucket Header'
i Functional Description:

ANALYZ.SRC

his routine is responsible for printina and checking the contents
of the bucket header in prolog 3 indexed file buckets.

Formal Parameters:

the_bsd The address of a BSD describing the complete bucket.
We update it to the next bucket, )

key_id The alleged ID of the key descriptor for this bucket.

dups A boolean, true if duplicates allowed for this key.

level The alleged level of this bucket.

report A boolean, true if we are to print a report.

indent_level The indentation level of the report.

Implicit Inputs:

global data

Implicit Outputs:

global data

Returned Value:

True if there is another bucket in this chain, false otherwise.

Side Effects:

global routine anl$3bucket_header(the_bsd,key_id.dups,level, report,indent_Level) = begin
bind

b = .the_bsd: bsd;

index_flags_def: block[!ilong] initial(

uplit byte (Xascic 'BKTSV_LASTBKT'),
uplit byte (Xascic "BKT$V_ROOTBKT')

data_flags_def: block[Z.bong] initial(
?ﬁlit byte (%ascic "BKTSV_LASTBKT')

sp: ref blockE.byteJ.
tp: ref block[,bytel;

know the bucket header fits in the bucket. Set up a pointer to the header
d a pointer to the trailer, which is the Last 8 bytes.

.b[bsd$l_bufptr]);
.b(bsd$l _endptr] - 8;

!AX-11 Blisa-SZ V4.0-742

P 4
RMS31DX.B32;1 ot (3)
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RMS3IDX RMS3IDX = Analyze Things for Prolog 3 Indexed f 1!-50 -1984 23:56:4 AX=11 Bliss=32 Vv&.0-742
v04-600 ANL&&BUCKE!_HE ER - P?int and Chegk 3 Buc:et H 14-503-1934 1:5 :53 !ANALYZ.S;C RMS3IDX.B832;1

gi ! Now we can format the header if requested.
94 it .report then (

anl$format_skip(0);
it .splbktSb_level] gtru 0 then
anl$Tormat_Line(0,.indent_Level+1,anlrms$_bktvbnfree,.tp(4,0,16,0));

TR A A TR R R TR A R R P PR L L L P LR LR R TR LRI AL PR LA TR DR TR TR PR TR T L T T e e TR T s A R T

1
i
189 %
}g? 063? ! Start with a nice header, containing the VBN.
19§ 98 anl$format_Line(3,.indent_Level ,anlrms$_bkt,.b[bsd$l_vbnl);
19 0699 anl$format skip(0);
194 0700
}95 8;81 ! Format the check character.
}gz 8;82 anl$format_Line(0,.indent_Level+1,anlrms$_bktcheck,.splbkt$Sb_checkcharl);
199 0705 ! Format the key ID.
200 0709 :
%81 8;83 anl$format_Line(0,.indent_Llevel+1,anlrms$_bktkey,.sp[bkt$Sb_indexnol);
28% 8;?3 ! Now the VBN address sample.
%gz 8;}1 anl$format_Line(0,.indent_Llevel+1,anirms$_bktsample,.sp[bktSw_adrsamplel);
ggg 8;}% ! Now the free space offset.
2?8 8;}5 g anl$format_Line(0,.indent_Level+1,anlrms$_bktfree,.sp(bktSw_keyfrespcl);
g}l 8;}2 % ! Now the next available record ID.
2}5 8;;3 3 anl$format_Line(0,.indent_Level+1,anlrms$_bktrecid3,.sp[bktSw_nxtrecidl);
%15 0721 3 ! Now the next bucket VBN,
216 072§ 3 ;
s}; 8;5‘ g anl$format_Line(0,.indent_Level+1 ,anlrms$_bktnext,.splbkt$l_nxtbkt]);
219 0725 g ! Now the level number.
220 0726 ; g
%%} 8; ; g anl$format_Line(0,.indent_Llevel+1,anlrms$_bktlevel,.sp[bkt$b_levell);
223 07%9 3 ! Now the control bits.
326 0730 3 )
25 0731 3 anl$format_flags(.indent Level+1,anlrms$_bktflags,.sp[bkt$b_bktcb],
559 8;;5 3 (it .splbktSb_Level] eqlu 0 then data_flags_def else index_flags_def));
223 8;32 § ! Now the VBN List pointer size, but only if this is an index bucket.
gO 0736 if .splbkt$b_level] gtru 0 then .
gl 8;;: 3 anl$Tormat_Line(0,.indent_level+1,anlrms$_bktptrsize,.splbktSv_ptr_sz]+2);
Si 0739 g ! Now we are going to format the stuff at the end cf the bucket.
Zgg 8;2? ! There is only the VBN free space offset if this is an index bucket,
A
074
l 0744 3
2 0745 2

SELE
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- Anal‘zo Things for Prolog 3 Indexed f 1;

Sep=1984 23:56:4 AX=11 Bliss=32 v&.0-742
DER = Print and Check a Bucket H 14 Seg- 934 1:53:58 !

ft

n

ANALYZ.SRCIRMS3IDX.B32;1

1
1
ng bucket header. This is a

! Now we are going the check the contents o hot : Look §
ng that requires looking

: fairl‘ rigorous test, but doesn
e

t check anyt
! at other structures.

! Make sure the check byte is present in the Last byte of the bucket.

it .splbktSb_checkchar) nequ chSrchar(.blbsd$l fndptrl-l) then
anl$Tormat_error(anlrms$_badbktcheck,.5[bsd$l_vbnl);

! Check the key ID.

it .splbkt$Sb_indexnol ne?u .key_id then
anl$Tormat_error(anlrms$_badbktkeyid, .b[bsd$L_vbnl);

! Check the bucket address sample.

it .splbktSw_adrsample] nequ (.b[bsd$L_vbnl and Ex'0000ffff') then
anl$Tormat_error(anlrms$_badbkisample,.blbsd$l_vbnl);

! Check that the next available byte is within reasonable Limits.
VYVITEMP! Y

if .sp(bktSw_freespacel] lssu bkt$c_overhdsz or
.splbktSw_freespacel gtru .b[bsdSw_sizel*512=1 then
anl$Tormat_error{anlrms$_badbktfree, . .b[bsd$l_vbnl);

! Check the Level number.

it .splbktSb_Llevel] nequ .level then
anl$Tormat_error(anlrms$_badbktlevel,.blbsd$L_vbnl);

: Check the byte of control flags. Make sure we don't get confused by
! the pointer size.

anlScheck_flags(.blbsd$l_vbnl,.splbkt$b_bktcb] and %x'e7', ;
(it .sp(bktSb_Level] eqlu 0 then data_flags_def else index_flags_def));

! Now split up depending on the type of bucket.
it .splbkt$b_level] gtru 0 then (

! This is an index bucket. Check the VBN free sgace offset.
' If we are accqnulqttna statistics, then call the bucket callback
! routine, telling it the level, bucket size, and fill amount.

it .tpl4,0,16,0] Lssu .splbktSw_freespacel-1 or
.tpl4,0,16,0] gtru .blbsdSw_sizel*512-1 then
an($forma error(anlrms$_badvbnfree,.bl[bsd$l_vbnl);

statistics _callback(
anf&bucket_callback(.sE[bktSb-Level].
.blbsd$w_sSize],
' .blbsd$w_sizel*512 - ,tp(4,0,16,0] + .splbktSw_freespacel = 1);

) else
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DER = P?int and Chegk s Buc:Qt Bl 14-50:-1934 ¥1:53:58 !ANALVI.SRC RMS3IDX.B32;:1

: ALl we need to do for data buckets is call the statistics
! callback routine with the same information.

statistics_callback(
anTSbucket_callback(.splbktSb_Levell,
.blbsdSw_sizel,
: .splbkt$w_freespacel + 1);

Page

(4)
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ANLS3BUCKET _MEADER = Print and Check a Bucket H 14=Sep- ANALYZ.SRCIRMS3IDX.B32;1
7 8311 ! 1f this is not the lLast bucket in this chain, then let's update the
88 0 } : BSD to describe the next one. Otherwise forget it.
10 0814 if not .setbktiv_loitbktl hen (
1 0315 blbsd$L_vbnl = .splbkt$l_nxtbkt];
1; 0 19 anlSbucket(b,0);
1 081 return true;
14 0818 ) else
15 0819 return false:
16 oggo
17 0821 end;

; LTITLE RMS3IDX RMS3IDX = Analyze Things for Prolog 3 |
| ¢ ndexed F
: LIDENT \V04&=000\

.PSECT SPLITS ,NOWRT,NOEXE,?2

54 4B 42 54 53 41 4C SF 56 26 54 4B 42 0D 00000 P.AAA: LASCII <13>\BKTSV_LASTBKT\
56 4B 42 56 4F 4F 52 S5F 56 26 54 4B 42 0D OO00E P.AAB: .ASCII <13>\BKT$V_ROOTBKT\
5% 4B 42 56 53 41 4C SF 56 26 54 4B 42 OD 0001C ®P.AAC: LASCII <13>\BKT$SV_LASTBKT\

.PSECT SOWNS ,NOEXE,?2
00000001 00000 INDEX_FLAGS DEF:1

.LO
00000000* 00000000°* 00004 "ADDRESS P.AAA, P.AAB

00000000 0000C DATA_FLAGfuagfz :

00000000 00010 .ADDRESS P.AAC :

.EXTRN ANLRMSS_OK, ANLRMSS_ALLOC

.EXTRN ANLRMS$S ANYTHING

.EXTRN ANLRMSS BACKUP, ANLRMSS_BKT
.EXTRN ANLRMSS BK TAREA

.EXTRN ANLRMSS$ BKTCHECK

.EXTRN ANLRMSS BKTFLAGS

.EXTRN ANLRMSS BKTFREE

.EXTRN ANLRMSS BKTKEY, ANLRMSS_BKTLEVEL
.EXTRN ANLRMSS BKTNEX{

.EXTRN ANLRMSS BKTPTRSIZE

.EXTRN ANLRMS$ BKTRECID

-EXTRN ANLRMS$ BKTRECID3

.EXTRN ANLRMSS BKTSAMPLE

.EXTRN ANLRMSS$ BK TVBNF REE

.EXTRN ANLRMSS BUCKETSIZE

.EXTRN ANLRMSS_CELL, ANLRMSS_CELLDATA
.EXTRN ANLRMSS CELLFLAGS

JEXTRN ANLRMSSCHE CKHDG

.EXTRN ANLRMSS"CONTIG, ANLRMSS_CREATION
.EXTRN ANLRMS$™CTLSIZE
.EXTRN ANLRMSS DATARE(
.EXTRN ANLRMSS DATABKTVBN

TRN ANLRMSS DUMPHEAD ING

TRN ANLRMSS"EOF, ANLRMSS_ERRORCOUNT
TRN ANLRMSS"ERRORNONE
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N

X ANLRMSS_ERRORS, ANLRMSS_EXPIRATION
XTRN ANLRMSSFILE A f

XTRN ANLRMSS"F ILEHD

XTRN ANLRMSS™ FILEID ANLRMSS _F ILEORG
XTRN ANLRMSS F ILESPEC

XTRN ANLRMSS™ FLAG. ANLRHSS GLOBALBUF S
XTRN  ANLRMSS~HEXDA

XTRN ANLRMSS™ nixuenoxnc1

XTRN  ANLRMSS~HE XHEAD ING2

XTRN ANLRMSS”IDXAREA

XTRN ANLRMSS ™ IDXAREAALLOC

XTRN ANLRMS$S”IDXAREABKTSZ

XTRN ANLRMSS™IDXAREANEXT

XTRN ANLRMSSIDXAREANOALLOC

XTRN ANLRMSS”IDXAREAQTY

XTRN ANLRMSS IDXAREARECL

XTRN ANLRMSS$” 1DXAREAUSED

XTRN ANLRMSS_IDXKEY, ANLRMSS_IDXKEYAREAS
XTRN ANLRMSS”IDXKEYBKTSZ

XTRN ANLRMSS”IDXKEYBYTES

EXTRN ANLRMSS”IDXKEY1TYPE

EXTRN ANLRHSS IDXKEYDATAVBN

EXTRN ANLRMSS”IDXKEYFILL

| .EXTRN ANLRMSS_IDXKEYFLAGS

! .EXTRN ANLRMSS_IDXKEYKEYSZ

; .EXTRN ANLRMSS$IDXKE YNAME

.EXTRN ANLRMSS_IDXKEYNEXT

.EXTRN ANLRMSS_IDXKEYMINREC

.EXTRN ANLRMSS IDXKEYNULL

.EXTRN ANLRMS$S_IDXKEYPOSS

.EXTRN ANLRMSS$ IDXKEYROOTLVL

.EXTRN ANLRMSS_IDXKEYROOTVBN

.EXTRN ANLRMS$_IDXKEYSEGS
.EXTRN ANLRMSS IDXKEYSIZES
.EXTRN ANLRMS$”IDXPRIMREC
.EXTRN ANLRMSS"IDXPRIMRECFL
.EXTRN ANLRMSS_IDXPRIMRECID
.EXTRN ANLRMSS_IDXPRIMRECLEN
.EXTRN ANLRMSS”IDXPRIMRECRRV
.EXTRN ANLRMSS$”IDXPROAREAS
.EXTRN ANLRMSS$_IDXPROLOG
.EXTRN ANLRMSS_IDXREC, ANLRMSS_IDXRECPTR
EXTRN ANLRMSS_IDXSIDR

EXTRN ANLRMSS_IDXSIDRDUPCNT

EXTRN ANLRMSS”I1DXSIDRFLAGS
EXTRN ANLRMSS IDXSIDRRECID
EXTRN ANLRMSS_IDXSIDRPTRFLAGS
EXTRN ANLRMSS1DXSIDRPTRREF
Exrnn ANLRMSS~ INTERCOMMAND
£
-E
£
£
E
£
N:

AGS

XTRN ANLRMSS_INTERHDG
XTRN ANLRMSS”LONGREC

XTRN ANLRMSS”MAXRECSIZE
XTRN ANLRMS$_NOBACKUP
XTRN ANLRMSS_NOEXPIRATION
XTRN ANLRMSS_NOSPANF ILLER
XTRN ANLRMSS_PERFORM

XTRN ANLRMSS_PROLOGFLAGS
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EXTRN
EXTRN
.EXTRN
EXTRN
EXTRN
EXTRN
LEXTRN
EXTRN
EXTRN
EXTRN
EXTRN
LEXTRN
EXTRN
EXTRN
EXTRN
+EXTRN
+EXTRN
EXTRN
EXTRN
+EXTRN
+EXTRN
.EXTRN
EXTRN
EXTRN
EXTRN
.EXTRN
EXTRN
EXTRN
EXTRN
EXTRN
.EXTRN
EXTRN
EXTRN
+EXTRN
.EXTRN
EXTRN
EXTRN
EXTRN
.EXTRN
.EXTRN
EXTRN
EXTRN
EXTRN
.EXTRN
.EXTRN
EXTRN
.EXTRN
EXTRN
.EXTRN
EXTRN
.EXTRN
EXTRN
.EXTRN
EXTRN
EXTRN
EXTRN
LEXTRN

o8 11:38138  YANALVZ2SnETmmssIoiases

ANLRMSS_PROLOGVER

ANLRMSS$“PROT, ANLRMSS RECATTR
ANLRMSS“RECFMT, ANLRMSS_RECLAIMBKT
ANLRMSS "RELBUCKE T

ANLRMSS "RELEOF VBN

ANLRMSS ~RELMAXREC
ANLRMSS$"RELPROLOG

ANLRMSS~ RELIAB ANLRMSS_REVISION
ANLRMSS™STATHDG

ANLRMSS$~ SUMMARYHDG
ANLRMSS~OWNERUI C

ANLRMSS_JNL, ANLRMSS AIJNL
ANLRMSS BIJNL, ANLRMSS ATJNL
ANLRMSS-ATTOP, ANLRMSS_BADCMD
ANLRMSS “BADPATH
ANLRMSS BADVBN, ANLRMSS_DOWNHELP
ANLRMSS ~DOWNPATH

ANLRHS‘ EMPTYBKT

ANLRMSS "NODATA, ANLRMSS_NODOWN
ANLRMSS”NONEXT., ANLRMSS NORECLAIMED
ANLRMSS NORECS, ANLRMSS NORRV
ANLRMSS$RESTDONE
ANLRMSS~STACKFULL

ANLRMSS "UNINITINDEX

ANLRMSS "FDL IDENT

ANLRMSS FDLSYSTEM

ANLRMSS"F DL SOURCE

ANLRMSS "FDLF ILE

ANLRMSS FDLALLOC

ANLRMSS$ "FDLNOALLOC

ANLRMSS FDLBESTTRY

ANLRMSS "FDLBUCKE TSI 2E

ANLRMSS "FDLCLUSTERS i ZE
ANLRMSS”FDLCONT 16

ANLRMSS " FOLEXTENS 10N

ANLRMSS "F DL GLOBALBUF $

ANLRMSS ”F DLMAXRE CORD

ANLRMSS "FDLF I LENAME

ANLRMSS FDLORG, ANLRMSS_FDLOWNER
ANLRMSS FDLPROTECTION

ANLRMSS$"F DLRE CORD

ANLRMSS "FDL SPAN

ANLRMSS™ FDLCC. ANLnnss FDLVFCSIZE
ANLRMSS$F DL F ORMA

ANLRMS$ FDLSIZE

ANLRMSS “FDLAREA

ANLRMSS“FDLKEY, ANLRMSS_FDLCHANGES
ANLRMSS "FDLDATAAREA

ANLRMSS "FDLDATAF ILL

ANLRMS$S “FDLDATAKEYCOMPB
ANLRMSS"FDLDATARE CCOMPB

ANLRMS$S “FDLDUPS

ANLRMSS”FDL INDE XAREA

ANLRMS$"F DL INDE XCOMPB

ANLRMSS™ FDLINDEXF!LL

ANLRMSS“FDLL 1 INDE XAREA

ANLRHSS FDLKE YNAME
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2

RS

B

LEXTRN
+EXTRN
EXTRN
EXTRN
EXTRN
EXTRN
EXTRN
EXTRN
EXTRN
EXTRN
EXTRN
EXTRN
EXTRN
EXTRN
EXTRN
EXTRN
EXTRN
EXTRN
+EXTRN
EXTRN
EXTRN
LEXTRN
EXTRN
EXTRN
EXTRN
EXTRN
EXTRN
.EXTRN
EXTRN
EXTRN
EXTRN
LEXTRN
.EXTRN
EXTRN
EXTRN
.EXTRN
.EXTRN
EXTRN
EXTRN
EXTRN
.EXTRN
EXTRN
.EXTRN
EXTRN
LEXTRN
EXTRN
.EXTRN
EXTRN
EXTRN
EXTRN
LEXTRN
EXTRN
EXTRN
.EXTRN
EXTRN
.EXTRN

56:4 AX=11 BL
59 ;

s=32 V4.0-742
ANALYZ.SRCIRMS3IDX.B32;1
ANLRMSS _FDLNORECS
ANLRMSS™ JFDLNULLKEY
ANLRMSS® JFDLNULLVALUE
ANLRMSS™ _FDLPROLOG
ANLRMSS™ FDLSEGLENGTH
ANLRMSS™ FDLSEGPOS
ANLRHSS FDLSEGTYPE
ANLRMSS™ _FDLANALAREA
ANLRHSS FDLRECL
ANLRMSSFDLANALKEY
ANLRHSS FOLDATAKEYCOMP
ANLRMSS™ JFDLDATARECCOMP
ANLRMSS™ FDLDATARECS
ANLRMSS™ _FDLDATASPACE
ANLRHSS FDLDEPTH
ANLRMSS™ _FDLDUPSPER
ANLRMSS™ _FDLIDXCOMP
ANLRHSS FOLIDXFILL
ANLRHSS FDLIDXSPACE
ANLRHSS FOLIDXLIRECS
ANLRMSS"™ _FDLDATALENME AN
ANLRMSS™ _FDLIDXLENMEAN
ANLRMSS _STATAREA
ANLRMSS™ STATRECL
ANLRHSS STATKEY
ANLRHSS STATDEPTH
ANLRMSS™ STATIDXLIRECS
ANLRHSS STATIDXLENMEAN
ANLRHSS STATIDXSPACE
ANLRHSS STATIDXFILL
ANLRHSS STATIDXCOMP
ANLRHSS STATDATARECS
ANLRHSS STATDUPSPER
ANLRHSS STATDATALENMEAN
ANLRHSS STATDATASPACE
ANLRHSS STATDATAFILL
ANLRHS$ STATDATAKEYCOMP
ANLRHSS STATDATARECCOMP
ANLRMSS™ STATEFFICIENCY
ANLRMSS ™ _BADAREA1ST?
ANLRMSS ™ _BADAREABKTSIZE
ANLRMSS ™ _BADAREAFIT
ANLRMSS™ _BADAREAID
ANLRMSS ™ _BADAREANEXT
ANLRMSS ™ _BADAREAROOT
ANLRMSS™ _BADAREAUSED
ANLRHSS BADBKTAREAID
ANLR™5S BADBKTCHECK
ANLRMSS ™ _BADBKTFREE
ANLRMSS™ _BADBKTKEYID
ANLRMSS ™ _BADBKTLEVEL
ANLRMSS ™ _BADBKTROOTBIT
ANLRMSS™ _BADBKTSAMPLE
ANLRMSS ™ _BADCELLFIT
ANLRMSS ™ _BADCHECKSUM
ANLRMSS™ _BADDATARE(B

ITS
ANLRMSS "BADDATARECFIT

e
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EXTRN ANLRMSS_BADDATARECPS

EXTRN ANLRMSS BAD3IDXKEYFIT

EXTRN ANLRMSS_BADIDXLASTKEY

.EXTRN ANLRMSS_BADIDXORDER

LEXTRN ANLRMSS™ _BADIDXRECBITS

EXTRN ANLRMSS_BADIDXRECFIT

EXTRN ANLRMSS_BADIDXRE(CPS

.EXTRN ANLRMSS BADKE YAREAID

EXTRN ANLRMSS _BADKEYDATABKT

EXTRN ANLRMSS_BADKEYDATAFIT

EXTRN ANLRMSS_BADKEYDATATYPE

.EXTRN ANLRMSS_BADKEYIDXBKT

EXTRN ANLRMSS BADKEYFILL

EXTRN ANLRMSS BADKEYFIT

.EXTRN ANLRMSS_BADKEYREF ID

.EXTRN ANLRMSS_BADKEYROOTLEVEL
EXTRN ANLRMSS_BADKEYSEGCOUNT

.EXTRN ANLRMSS_BADKEYSEGVE(

.EXTRN ANLRMSS$ _BADKEYSUMMARY

EXTRN ANLRMSS_BADREADNOPAR

.EXTRN ANLRMSS_BADREADPAR

.EXTRN ANLRMSS_BADSIDRDUPCT

.EXTRN ANLRMSS BADSIDRPTRFIT

EXTRN ANLRMSS _BADSIDRPTRSZ

.EXTRN ANLRMSS™ _BADSIDRSIZE

.EXTRN ANLRMSS_BADSTREAMEOF

.EXTRN ANLRMSS BADVBNFREE

.EXTRN ANLRMSS_BKTLOOP

.EXTRN ANLRMSS_EXTENDERR

.EXTRN ANLRMSS_FLAGERROR

.EXTRN ANLRMSS MISSINGBKT

.EXTRN ANLRMSS_NOTOK, ANLRMSS_SPANERROR
.EXTRN ANLRMSS® TOOMANYRECS

.EXTRN ANLRMSS_UNWIND, ANLRMSS_VF(CTOOSHORT
.EXTRN ANLRMSS CACHEFULL

.EXTRN ANLRMSS_CACHERELFAIL

LEXTRN ANLRMSS FACILITY

.EXTRN ANLSBUCRET, ANLSBUCKET_CALLBACK
"EXTRN ANLSCHECK FLAGS

LEXTRN ANLSDATA CALLBACK

.EXTRN ANLSFORMAT_ERROR

.EXTRN ANLSFORMAT FLAGS

.EXTRN ANLSFORMAT_HEX, ANLSFORMAT_L INE
"EXTRN ANLSFORMATSKIP

LEXTRN ANLSINDEX CALLBACK

LEXTRN ANLSRECLATMED BUCKET CALLBACK
.EXTRN ANLSGB_MODE, ANLSGL_FAT
LEXTRN ANLSGW_ PROLOG

+PSECT SCODES ,NOWRT,?2

0FFC 00000 JENTRY agLS38UCsE;T?EADER Save R2,R3,R4.RS,.R6,.R7,~: 0664
9€ 0000 MOVAB ANLSGé MODE, R11
9¢ 0000 MOVAB DATA FCAGS Der R10
9€ 0000C MOVAB  ANLSFORMAT"ERROR, R9
9€ 00011 MOVAB  ANLSFORMAT LINE, RS

N—



RMS3
ANLS

RS

55

00006

18

é%

68
68
68
68

50
50

;
1,8

04
000000006
18

000000006

0
000000006
02
000000006
04
000000006
06
000000006
08
000000006

1]
000000006
0c

Fé

E 0D
000000006

DX = Analyze Things for Prolog 3 Index
UCKET _MEADER = Print and Check a Buck

AC
Al
Ai

P ONVOMOONOO P>
WSS M = TN =TT SN

8Ff

L=

COWMNOOOWTMNTOOOOVMNTOOMO VMO NMOOOOWMOOOO
COMNDMfOOMADMfOOPDHrO—=0>DHIrhrWOOTO0 =MOOO

16
=Sep
-Sep

1%:

4 3:5
6 1:5

MOvL
MOvL
MOVL
MOVAB
BLBS
BRW
PUSHL
PUSHL
PUSHL
PUSHL
CALLS
CLRL
CALLS
MOVZBL
PUSH
ADDL
PUSHL
CLRL
CALLS
MOVZBL
PUSHL
PUSHL
CLRL
CALLS
MOVZuL
PUSHL
PUSHL
CLRL
CALLS
MOVZuWL
PUSHL
PUSHL
CLRL
CALLS
MOVZuL
PUSHL
PUSHL
CLRL
CALLS
PUSHL
PUSHL
PUSHL
CLRL
CALLS
MOVZBL
PUSHL
PUSHL
CLRL
CALLS
TST8
BNEQ
MOVAB

MOVAB
PUSHL
MOVZBL
PUSHL

1:33:8

Ax=11 Olis «32 v&4.0=742
ANALYZ.SRC RHS!IDI.BSZ:I

rns BSD,
2(Re),”
1 (R‘).
(R6),
nspont,
5
4(R&)
SANLRMSS BKT
lgbfnr LEVEL

'?i ANLSFORMAT _L INE
ANLsroanAt SKIP

(sﬁ) =(SP)

#ANLRMSS BKTCMECK

:;. INDERT_LEVEL, RS

-(SP)

#4, ANLSFORMAT L INE
1(5P), =(SP)
:guLnnss BKTKEY

-(SP)

84, ANLSFORMAT L INE
2(8p), =(SP)
:gNLRHSS BK TSAMPLE

-(5P)

#4, ANLSFORMAT L INE
4($P), =(SP)
:gutnnss BKTFREE

=(SP)

#4, ANLSFORMAT L INE
6(SP), =(SP) :
:gNLRHSS BKTRECID3

-(SP)
#4, ANLSFORMAT_LINE
8(SP)

$
:gNLnnss_BKINExi

S
Ré
TP
1%

=(SP)

#4, ANLSFORMAT _L INE
12({sP), =(SP)
:2NLRHSS BKTLEVEL
=(SP)

", ANLSFORHAY JLINE
\%(SP)

2
ATA_FLAGS DEF , RO
INDEX_FLAGS_DEF, RO

12(5?) -(SP)
#ANLRMSS BKTFLAGS

5

I R R R R R R R e R R R R R R R R R I I I I I I I I I T T I T I T I T T T s s s sy sy TR TR TR DR N PR B

13
(5)

0689

0690
0694
0698

0699
0703

0707
oTn
0715
0719
0723
0727

0732

0731
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5SS 0D 00009 PUSHL R :
00006 CF 24 F8 000 CALLS 02. ANLSFORMAT _FLAGS :
7 D& 805 CLRL R7 : 073
0C A ; ge 1ST8 12(5P) :
18 13 000€ BEQL 4 :
57 D6 000E INCL R :
7€ 0D A3 02 03 Ef Q00E9 EXTIV #3, #2, 13(SP), =(SP) : 0737
(33 2 (0 O0OEF ADDL2 #2. (SP) :
000000006 8F DD oori PUSHL  MANLRMSS BKTPTRSIZE :
S 0D 000F PUSHL RS :
€ D& 000FA CLRL -(SP) :
68 94 FB8 000F(C CALLS  #4, ANLSFORMAT_L INE :
, E D& OOOFF 4%: CLRL  =(§P) P 072
00006 CF 01 rg 0101 CALLS #1, ANLSFORMAT_SKIP :
11 57 § 0106 BLBC R7, 5% : 0743
06 A2 3C 00109 MOVIWL &(fP), =(SP) : 0744
000000006 gr 0D 0010 PUSHL  #ANLRMSS _BKTVBNFREE :
S 0D 0011 PUSHL RS :
7€ D4 0011 CLRL -(SP) :
£ 04 FB 00117 CALLS  #4, ANLSFORMAT L INE .
FF A6 63 91 0011A 5§: CMPB (SP), =1(Ré) : 0752
0C 13 0011¢ BEQL (33 :
06 A4 DD 00150 PUSHL  &(R&) ;0753
000000006 8F DD 00123 PUSHL  #ANLRMSS BADBKTCHECK :
9 02 ¥fB 00129 CALLS  #2, ANLSFORMAT_ERROR :
08 AC 01 A3 08 00 € oo1§c 68: CMPZV  #0, #8, 1(SP),"KEY_ID : 0757
0C 13 00133 BEQL 7% :
06 A& DD 00135 PUSHL  &4(R&) : 0758
000000006 8F DD 00138 PUSHL  #ANLRMSS BADBKTKEYID :
69 02 FB 0013¢ CALLS #2, ANLSFORMAT_ERROR :
56 04 A4 DO 00141 7%: MOVL 4(R4), R6 ;0762
56 02 A3 B1 00145 CMPW 2(SP). Ré :
0B 13 00149 BEQL 8s ;
56 DD 00148 PUSHL Ré : 0763
000000006 8F DD 0014D PUSHL  #ANLRMSS BADBKTSAMPLE :
69 02 FB 00153 CALLS  #2, ANLSFORMAT_ERROR :
55 06 A3 3C 00156 8%: MOVIWL &(SP), RS : 0768
OE 55 81 0015A CMPW RS, #i4 :
OF 1F 00150 BLSSU 9% :
50 02 A& 3C 0015¢f MOVZWL 2(R4), RO : 0769
50 50 09 78 00163 ASHL  #9, RO, RO :
SO D7 00167 DECL RO :
50 §5 D1 00169 CMPL RS, RO :
08 1B 0016C BLEQU 10% ;
56 DD 0016E 9%: PUSHL Ré : 0770
000000006 8F DD 00170 PUSHL  #ANLRMSS BADBKTFREE :
69 og FB 00176 CALLS  #2, ANLSFORMAT_ERROR :
57 0C A3 9A 00179 10%: MOVIBL 12(SP), R7 ;0774
10 AC 7 D1 0017D CMPL R7, LEVEL :
08 13 80131 BEQL 1§ ;
56 DD 0182 PUSHL Ré ;0775
000000006 8F DD 0018 PUSHL  #ANLRM3S BADBKTLEVEL :
69 g; rg 0188 CALLS c;. ANLSFORMAT _ERROR :
D 0188 18 1STL R : 0781
05 12 001 BNEQ 12% F
50 6A 9E oo19§ MOVAB  DATA_FLAGS_DEF, RO :
04 11 0019 BRB 138 :
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50 F& AA 9E 00197 1;3:
Sg D 00198 13%:
58 o0 A A 00190
7€ SO FFFFFF18 gf (B 0011
DD 001A9
0000G CF g F Ollg
D5 0018
w w  HEE
50 04 A2 10 00 ED 00188
0 02 12 3 O}ES
o RO
50 06 A2 10 00 ED Q01CA
08 18 00100
56 DD 001D2 14%:
000000006 8F DD 001D4
69 02 FB 001DA
02 68 91 001DD 15%:
05 13 001€0
04 68 91 001€2
20 12 80155
50 02 A& 3C OD1E7 16%:
50 50 09 78 001EB
51 06 A2 3C OO1EF
50 51 (2 001F3
FF A540 9F 001F6
0D 11 OD1FA
02 68 91 001FC 17%:
05 13 001FF
04 68 91 00201
0E 12 00204
01 AS 9F 00206 18%:
7€ 02 A4 3C 00209 19%:
57 DD 00200
00006 CF 03 fB 0820!
12 0D A3 EB 00214 20%:
06 AL 08 A3 DO 00218
7€ D& 00210
54 DD 0021F
0000G CF 02 FB 00221
50 01 DO 00226
04 00229
S0 D& 0022A 218%:
04 0022¢

557 bytes, Routine Base: $CODES + 0000

8 f1:38:48

MOVAB
PUSHL
MOVZBL
BICL
PUSHL
CALLS
TSTL
BEQL
MOVAB
CMPZV

RET

!Al-il Bliss=32 v&.0-742
ANALYZ.SRCIRMS3IDX.B32;1

gNDEl_fLAGS_DEF. RO

15(SP), RO
:-2 2, RO, =(SP)

: . ANLSCHECK_FLAGS
17%

=1(R5), RO

#0, #16, 4(TP), RO
14§

2(R4), RO

#, RO, RO

RO

#0, M6, 4(TP), RO
i

#ANLRMSS BADVBNFREE
#2, ANLSFORMAT ERROR
?:§sca_nooi. #?

ANL$GB_MODE, #4
208

R1, R
~1{RS)[RO]
ANLSGB_MODE , #2
ANLSGB_MODE, #4
20

2(R4), =(SP)

ANLSBUCKET_CALLBACK
), 21%

;. 4(R4)

4

#2, ANLSBUCKET

#1, RO

RO

§‘
-
AN —t

LA AL E LR DR TR TR TR T R O R T T N N T T T e e T Y TR R I A R R R R LR T R R TR L TR T AT A T vy

~ N

0780

0785
079

0792

0793

0799

0810

(=lele]
— b b
(= SV P o

0819

0821
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23
&

N U U U U U U U U U N N N N N U AN AN N
BIFA °
VAN = OO0 NV W) = O P

AN L L N N U A N N N N
W IV IV IV IV IV TV IV IV IV ak‘-‘f»»aa w
VBN NS NN = OOV W =20 P

28

36
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?:?ttl "ANLS3RECLAIMED BUCKET_MEADER = Check & Format Reclaimed Bucket'

O —
~ O

: Functional Description:

This routine is called to check and opticnally format the header
of a reclaimed bucket. These buckets reside on the available
Llist chained off the area descriptor.

Formal Parameters:
the_bsd Address of BSD describing bucket.

s
5 :
? :
;
0859 1 |
8 0 -
1 - report A boolean, true if we are to format the header.
§ ; ; indent_Llevel Indentation level for the report.
i Implicit Inputs:
8 S E global data
G837 1 | tmeuicit outouts:
! obal data
0839 1 i v
0840 ! Returned Value:
8321 ; True if there is another bucket in the chain, false otherwise.
Olki i Side Effects:
0844 !
0845 o=
084
084

global routine anl$3reclaimed_bucket_header(the_bsd,report,indent_level) = begin

bind
8851 b = .the_bsd: bsd;
0 own
8 control_flags_def: block[2,long) initial(
8 ?Glit byte (Zascic "BKTSV_LASTBKT®)
o .
0 local
8 sp: ref block[,bytel;
086
086 ! We know the bucket header fits in the bucket.

(==l
(o Lo -To T To To To To To-To Jo Jo To"Te ]
O O NV S
WN = OOV NO WV W= O O
AN N AN N N AN AN AN AN AN N PO PO RO R RO RO RV RO NV R NORU RO PO RUNRU RO RO RO = b i cd b el ol e e e o o D o el o e ol el i i) el sl e

oo
o
wn

! Now we can format the header if requested.
sp = .blbsd$l_bufptr];
if .report then (

38555

Co 0o
~
-

! Start with a nice header, containing the VBN.

[elelelelelelelel-

87

anl$format_Line(3,.indent_level ,anlrms$_reclaimbkt,.b(bsd$l_vbnl);
anltfornat_shlp(os;

! Format the check character,
an($format_Line(0,.indent_level+1 anlrms$_bktcheck,.splbktSb_checkchar]);
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7 0879
g;a Ogg? ! Format the VBN address sample.
79 808 anl$format_Line(0,.indent_Level*1,anlrms$_bktsample,.splbktSw_adrsamplel);
§? §§§g . Now the next available record ID.
ai 088 anl$format_Line(0,.indent_level*1,anlrms$_bktrecid3,.splbktSw_nxtrecidl);
§§ §g§ . Now the next bucket VBN.
g 8§3? anl$format_Line(0,.indent_Level+1,anlrms$_bktnext,.sp[bkt$l_nxtbkt]);
88 883; ! Finally, the flags.
g} 833? 2 ) anl$format_flags(.indent_Level+1,anlrms$_bktflags,.spl(bktSb_bktcbl,control_flags_def);
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ANLSSRECLAIMED _BUCKET_READER = (heck & Format R 14=Sep=19 NALYZ.SRCIRMS3IDX.B32;1
99 . Now we are going to check those items which u! formatted above. The rest
9 : of the bucket header (and trailer, if prolog 3) were probably left alone

833 ! when the bucket was reclaimed, but we don't care.

900 ! Make sure the check byte is present in the Last byte of the bucket.

90; it .splbktSb_checkchar) nequ ch$rchar(.blbsd$l Endptr]-l) then
90 anl$Tormat_error(anlrms$_badbktcheck, .B[bsd$l_vbnl);

30
32

! Check the bucket address sample.

0

038? it .splbktSw_adrsample] nequ (.b[bsd$L_vbn] and Xx'0000ffff') then

8388 anl$Tormat_error(anlrms$_badbkEsample,.blbsd$l_vbnl);

0910 ! We can't check anything else in the header because we don't know what's
83}1 ! left over from the original bucket.

88}% statistics_callback(

0915 . It we are accumulating statistics, then we have to call the
83}9 S ! bucket callback routine so it can tally the bucket.

88}3 g anl$reclaimed_bucket_callback(.b[bsdSw_sizel);

~—
~ Qo
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D

nnssiox

ANL S 3RE

419 0920

420 921

621 G §

4 i 9 if not
4 0924

L24 0925

425 09 ?

426 09 ) else
427 0928 %

658 0929

429 0930 1 end;

56 4B 42 S5¢ 53 41 4«

56

1%
Ct.?aggzggcgg}ngg‘for Prolog 3 Indexed f 1*-5:9-1932 23:36:46

! 1f this is not the last bucket in this chain, then lLet's update the
! BSD to describe the next one. -

.sE[bktSv,la tbkt]
blb

DER = Check & Format R 14=Sep-19

Otherwise forget it.

hen (

sd$L_vbn] = .splbkt$l _nxtbkt];
anlSbucket(b,0); . -
return true;

return false;

¥Al-11 Blisg=32 vé.0-742
ANALYZ.SRCIRMS3IDX.B32;1

LPSECT SPLITS,NOWRT ,NOEXE,2
SF 56 26 54 4B 42 0D O0O002A P.AAD: .ASCII <13>\BKTSV-LASTBKT\
PSECT SOWNS ,NOEXE,2
00000000 00014 CONIROL_FtGSé,DES:
00000000* 00018 .ADDRESS P.AAD
.PSECT S$CODES,NOWRT,?2
003C 00000 ENTRY :?L%%RECLAIHED_BUCKEY_HEADER. Save R2,R3,-
55 00006 CF 9E 00002 MOVAB  ANLSFORMAT LINE, RS
52 & AC DO 00007 MOVL THE _BSD, R?Z
53 0C A2 DO 00008 MOVL 12(R2), sP
74 08 AC E9 0000F BLBC REPORT. 1%
046 A2 DD 00013 PUSHL  &4(R2)
000000006 8F DD 00016 PUSHL  #ANLRMSS RECLAIMBKT
0C AC DD 0001C PUSHL  INDENT_LEVEL
03 DD 0001F PUSHL #3
65 04 FB 00021 CALLS ", ANLSFORHA!_LINE
7€ D& 00024 CLRL  =(5P)
00006 CF 01 FB 00026 CALLS  #1, ANLSFORMAT_SKIP
7E 63 9A 00028B MOVZBL (SP), =(SP)
000000006 8F DD 0002E PUSHL  #ANLRMSS BKTCHECK
0C AC 01 C1 800 ADDL3  #1, INDERT_LEVEL, R4
5¢ 0D 00039 PUSHL R4
7E D4 00038 CLRL  =(SP)
65 04 FB 0003D CALLS  #4, ANLSFORMAT_L INE
7€ 02 A3 3C 00040 MOVZWL 2(SP), =(SP)
C0000000G 8F DD 00044 PUSHL IANLRHSS_BKTSAHPLE
54 DD 0004A PUSHL Ré
7€ D& 0004C CLRL  =(SP)
65 04 FB 0004E CALLS F I3 ANLSFORHAT_L]NE
7€ 06 A3 3C 00051 MovIWwL 6(5P), =(SP)
000000006 8F DD 00055 PUSHL  #ANLRMSS_BKTRECIDS
54 DD 00058 PUSHL  Ré&
7€ D& 0005D CLRL -(SP)
65 04 FB 0005F CALLS  #4, ANLSFORMAT L INE

AR R R LR L R L R TR R R R S S I E I ™™

-~ o

0882

0886



lt

; Routine Size:

RHSS&D! = Analyze Thin

ANLS

228 bytes,

RECLAIMED_BUCKET

00006
FF

0000G
04

00006

00006
04

00006

Rout ine

AEn

65

e
oo™

A2

b o |
T M

wViey
o™

for Prolog 3 Indexe
DER = Check & Forma

08
000000006

0000°*
0D
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8(SP)
FANLRMSS_BK TNEXT

-(SP)
#4, ANLSFORMAT L INE
g NTROL _FLAGS_DEF
(SP),~=(SP)
:zuLnnés_axtrLAGs

#4, ANLSFORMAT_FLAGS
16(R2), RO

(SP), =1(R0)

2%

4(R2)

#ANLRMSS _BADBKTCHECK
#2, ANLSFORMAT_ERROR
%;SP). 4(R2)

4(R2)

#ANLRMSS BADBKTSAMPLE
#2, ANLSFORMAT ERROR
2§Lsse_nooe. 02
egLssa_nooE. '

2(R2), =(SP)

#1, ANLSRECLAIMED _BUCKET_CALLBACK

13(SP), 6%

8(SP), 4(R2)

=(SP)

R2

#2, ANLSBUCKET
1, RO

L

RO
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ANLS3SINDEX_RECORD = Format and Check an Index R 14-Sep=19 1:52:5

AUNIAIAIANAIANNINIAININI AN AINIAININI NI NI AINININININININD b b b e b b b b b b b b b b b e e b o b o o e d

§§ettl "ANLS3INDEX_RECORD = Format and Check an Index Record'

i Functional Description:
his routine is responsible for_formatting and checking the contents
of an index record (for prolog 3).

Formal Parameters:
rec_bsd Address of BSD describing index record. We update it
to describe the next record. The work longword is

assumed to sgecify the number of the record.
key_bsd Address of BSD for key descriptor of this index.
report A boclean, true if we are to format the record.
indent_Llevel Indentation Level for the report.

Implicit Inputs:
global data

Implicit Outputs:
global data

Returned Value: S : .
True if there is another index record, false otherwise.

Side Effects:

B N L L L T T

global routine anl$3index_record(rec_bsd,key_bsd,report,indent_Level) = begin

bind
b

> .rec_bsd: bsd,

.key_bsd: bsd;

nu

local
sp: ref block[,bytel,
hp: ref block[,bytel,
kp: ref block[,bytel,
vp: ref block[.bytel,
key_length: long;

! We want to ensure that the key portion of the index record fits in the
: record free space. Begin by calculating the Length of the key, which
! depends on whether or not it's compressed.

hp = .blbsd$l_bufptr];
sp = .b[bsd$| _bufptr] + .b[bsd$l_offset]);
kp = .k[bsd$l_bufptr] + .k[bsd$l _offsetl;

key_length = (it .kplkeySv_idx_compr] then
e - .sz[0.0,8.0] + irc$c_keycmpovh

.kplkey$b_keysz]);
! Make sure that the key fits in the record free space.

else

P 1
ANALYZ.SRCIRMS31DX.B32: 1 e §)
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EX_RECORD = Format and Check an Index R 14=Sep-1 ANALYZ.SRCIR
Oggs if .blbsdS| offsetl+.key_Length gtru_.hp[bktSw_keyfrespc] then (
90

2
:1

anl$Sformat errorTanlrnsS_badSIkaeyfit?.b(bsdi _vbnl);

§9 signal (anTrms$_unwind);

991 );

099 : Now we have to calculate the address of the corresponding VBN in the
8ggg ! VBN Llist.

0996 vp = (.blbsd$l_endptrl=4) - (.blbsd$l_workl+1) « (.hp(bktSv_ptr_sz]+2);

.t
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7
RD = Format and Check an Index R 14-Sep-1984 ANALYZ.SRCIRMS3IDX.B32:1

! Now we can format the index record, if requested.

if .report then (

! Begin witn a nice heading.

anl$format_L ne(3,.indent_level ,anlrms$_idxrec,.b[bsd$l_vbnl,.blbsd$l _offset));
anl$format ccip(0);

! Now the vBN.
anl$format_Line(0,.indent_Llevel+1,anlrms$_idxrecptr,.hplbktSv_ptr_sz]+2,
(case .hp[bktSv_gtr sz] ffom 0 to 2 of set
0]: .vp[0,0316,0];
: .vpl0,0,24,0];
(2]: .vpl0,0,32,0];
tes));
! And the key itself, in hex.
anl$format_Line(0,.indent_level+1,anlrms$_idxkeybytes);
begin
logal

key_dsc: descriptor;

build_descriptor(key_dsc,.key_Llength,.sp);
anéiformat_hex(.1ndent_levet+2.key,dsc):
end;

o
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statistics_callback(

: 1t we are accumulating statistics, then we have to call the
! index record callback routine, te(l1n? it the level, nominal
. record length, and compressed record (e

anlSindex_callback(.hpEbktsb_level%.
kplkey$b_keysz] + .h
.key_Length + _hplbkt

ngth,

g[bktiv_ptr sz]+2,
. v_ptr_521+2);

: Now we can advance to the next index record. If there isn't another
: one, then just return without modifying the BSD. Otherwise update the
: BSD. Don't forget to increment the record number in the work lLongword.

it .b[bsd‘l_offset]*.key_len?th lssu .hp(bktSw_keyfrespc] then (
blbsd$l _offset] = .blbsdSl_offset] + .Key_length;
increment (b{bsd$i_workl);

3 return true;
2 ) else
5 return false;
1 end;
OFFC 00000 LENTRY ANLS3INDEX RECORD, Save R2,R3,R&,RS,R6,R7,- : 0959
R8,R9,R10,R11 :
by:] 00006 CF 9t 00002 MOVAB  ANLSFORMAT _LINE, R11 :
S§ 08 2 00007 SUBLZ #8, SP 3
b 04 AC DO 0000A MOVL REC_BSD, R3 : 096
50 08 AC 0O 0000E MOVL KEY BSD, RO ;: 096
55 0cC A3 DO 00012 MOVL 12(R3), WP : 0977
0cC A3 08 A3 €1 00016 ADDL3Y B(R3), 12(R3), SP : 0978
57 0C A0 08 AQ (€1 0001C ADDL3 B(RO), 12(R0), kP : 0979
10 A7 03 E1 oooz; BB( #3, 16kpP), 1§ : 0981
56 6A 9A 0002 MOVIBL (SP), KEY LENGTH : 0982
56 02 €O 0002A ADDL2  #2, KEY_LENGTH :
0& 11 00020 L 23 3
56 14 A7 9A ogggf 1%: MOVIBL 20(KP), KEY LENGTH : 0984
59 56 08 A3 (1 8 3 2%: ADDLS B(R3), kEY CENGTH, RS : 0988
06 AS 10 00 ED 000 cmPZv  #0, #i6, «TWP), RS :
1% 1€ 000 BGEQU 3% 3
06 A3 DD 0004 PUSHL &(R3) : 0989
000000006 8F DD 0004 PUSHL  #ANLRMSS BADSIDXKEYFIT :
00006 CF 02 FB 00049 CALLS #2, ANLSFORMAT ERROR :
000000006 8F DD 0004E PUSHL  #ANLRMSS UNWIND : 0990
000000006 00 01 ¢B 00054 CALL ", 518! I GNAL -
50 14 A3 01 1 80050 I ADDL #1, 20(R3), RO : 0996
0D AS 2% 03 EFf 00060 EXTZV  #3%, #2, 13(WP), RS :
02 A4 9E 00066 ROV 2(R4), RB :
50 58 (& 0006A MUL L R8, R 2
52 10 A3 50 (3 00060 SUBL RO, 16(R3), R2 :
Sg 04 (5 0007% SUBLZ2 #4&, VP s
6 0C AC €9 0007 BLBC REPORT, 9% : 0999



15
RMS3IDX RMS3IDX = Analyze Things for Prolog 3 Indexed F 1&-50 -1984 23:56:4 AX=11 Bliss=32 v&.0-742 P 5
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£ 04 A3 70 00079 MOVQ 4(R3), =(SP) : 1003
000000006 B8F DD 0072 PUSHL #ANLRMSS [DXREC :
10 Ag 0D 0008 PUSHL  INDENT_LEVEL :
03 0D 80086 PUSHL # :
68 S FB 00088 EALLS #5, ANLSFORMAT L INE :
£ D& 00088 LRL  =($Pm) : 1004
0000G CF 21 FB 0008D CALLS #1, ANLSFORMAT_SKIP :
02 00 & CF 00092 CASEL R4, #C, #2 : 1009
0012 0008 0006 00096 4§: .WORD 5:-::.- :
$-4$ :
14 62 3¢C 8009( 5%: MOVZWL (VP), =(SP) : 1010
09 11 0009Ff RER 13 3
7E 62 18 00 EF O00A1 6%: EXTZv  #0, #24, (VP), =(SP) : 10N
0% 11 000A6 1] 8% :
62 DD O00A8 7%: PUSHL (VvP) : 1012
S8 DD O00AA 8%: PUSHL &5 : 1008
000000006 8F DD QOOAC PUSH #ANLRMSS IDXRECPTR :
52 10 AC 01 (1 00082 ADDL #1, INDERT_LEVEL, R2 :
52 0D 00087 PUSHL R2 F
7€ D& 00089 CLRL -(SP) 3
68 05 FB 000BB CALLS  #5, ANLSFORMAT L INE :
000000006 8F DD 000BE PUSHL  #ANLRMSS_IDXKEVBYTES : 1017
52 DD 000C& PUSHL R2 :
7% D& 000C6 CLRL -(SP) 3
68 03 FB 000C8 CALLS #3, ANLSFORMAT LINE :
6E 56 DO 000CB MOVL KEY_LENGTH, KEY_DSC : 1023
04 AE SA DO 000CE MOVL SP, KEY_DSC+4 3
SE DD 00002 PUSH SP : 1024
7€ 10 AC 02 C1 000D4 ADDL #2, INDENT LEVEL, =(SP) .
0000G CF 02 ¥¢B 00009 CALLS  #2, ANLSFORMAT HEX :
02 00006 CF 91 OOODE 9%: (MPB ANLSGB_“ODE, #2 : 1036
07 13 000E BEQL 108 3
04 0000G CF 91 OO0OES (MPB ANLSGB_MODE, #4 3
15 12 000EA BNEQ  11% | :
02 A446 9F OO00EC 10%: PUSHAB (RG)CKEY _LENGTH] 3
50 14 A7 9A 000Ff0 MOVZBL 0(kP), RO 2
02 A440 9F 000F& PUSHAB 2(R4)[RO] F
7€ 0C AS 9A 000F8 MOVZIBL 12(WP), =(SP) 3
00006 CF 03 FB 000FC CALLS #3, ANLSINDEX CALLBACK -
59 04 AS 10 00 ED 00101 11%: CMPZy  #0, #16, 4(WPTY, R : 1042
08 1B 00107 BLEQU 12§ :
08 A3 56 €0 00109 ADDLZ2  KEY gfncru. 8(R3) : 1043
14 A3 D6 00100 INCL 20(R3) : 1044
50 01 00 00110 MOVL #1, RO : 1047
04 0011% RET 3
50 D& 00114 12%: CLRL RO 3
04 00116 RET ; 1049

- ; Routine Size: 279 bytes, Routine Base: $CODES + 031
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- Anol‘zo Things for Prolog 3 Indexed f 12-509-19
RIMARY _DAT

AX=11 Bliss=3

1 Isbttl "ANLS3PRIMARY _DATA_RECORD = Format and (heck a Primary Data Record’

1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
%

Tee

! Functional Description:

Thi
of
inc

W e R RS R R R e e e e e e

s routine is responsible for 'orngtting and chectin? the contents
3 primary data record for prolog 3 indexed files. This does not
lude formatting of the data bytes themselves.

Formal Parameters:

rec_bsd Address of BSD describing data record. It is updated
to describe the next record. i

key_bsd Address of BSD for key descriptor of this index.
report A boolean, true if we are to print a report.
indent_level The indentation level for the report.

Implicit Inputs:
global data

Implicit Outputs:
global data

Returned value:

True if there is another record, false otherwise.
Side Effects:

ine anl$3primary_data_record(rec_bsd,key_bsd,report,indent_Level) = begin

.rec_bsd: bsd,
.key_bsd: bsd;

a_flags_def: voctortaélong] initial(
82
uplit byte (Zascic *IRCSV_DELETED®),
uplit byte (Rascic "IRCSV_RRV')
uplit byte (Rascic 'IRCSV_NOPTR§Z‘)‘
uplit byte (Zascic 'IRCSV_RU_DELETE'),
uplit byte (Xascic "IRCSV_RU_UPDATE')

T
-

ref block[l,byte
ref block(,byte

ref bloct{.bytei.

overall_dsc: descriptor,
key_dsc: descriptor,
data_dsc: descriptor;

global rout
bind

b =

k =
own

dat
local

hp:

rp:

kp:
! We need t
! bucket,

0 ensure that the data record fits in the used space of the
Begin by making sure that the first byte fits.

vé.0-742

A_RECORD = Format and (heck a P 16—509-1932 ‘¥;23§38 !ANALVZ.SIC RMS3IDX.832;1 ’.9.(15?
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610 1107

2}1 }} hp = .blbsd$L _butptrl;

61i 1" ? it .blbsa$l _offset] gequ . hf[bkttu freespace] then

614 m anlSformat _error(anirms$ baddatarocfit,.b[bsd!l vbnl):

615 111§ signal (anTrms$_unwind);

61? m ):

61 1114

618 1115 ! Set up a descripter of the overall data record, the key, and the data
213 }}}9 ! bytes.

g 1 }}}e calculate_data_record_info(b,k,overall_dsc,key_dsc,data_dsc);

g g }}g? ! Now we can ensure that the entire record fits in the unused space.
625 1n g it .blbsd$lL _offsetl+.overall _dscllen] gtru .hp(bktSw_freespacel then (
626 n anlStormat_error(anifms$_badda arecfit,.blbsdsl _vbnl);

:g; }} g !, signal (anTrms$_unwind);
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RECO D - Format and Check a P 16-509-19 ANALYZ.SRC RHSSIDI.BBZ.l

! Now we can format the record, if requested. This does not include the
i actual data bytes.

rp =, !orall dsclptrl;
kp = .k(bsd$L_bufptr] + .k[bsd$l_offset];

it .report then (
! Start with a nice heading.

anl$format line(!..indent level ,anlrms$_idxprimrec,.b(bsd$l_vbnl,.blbsd$(_offsetl);
anl$tormat_skip(0);

! Now the control flags.

anl$format_flags(.indent_level+1,anlrms$_idxprimrecflags,.rplircSb_control]),data_flags_def);

! Now the record 1D.

anl$format_Line(0,.indent_level+1 ,anlrms$_idxprimrecid,.rplircSw_idl);

! Now the RRV, both record ID and bucket pointer, if present.

it not .rplircSv_noptrsz] then

anl$format_Line(0,.indent_Level+1,anlrms$ _idxprimrecrrv,

.rplircSw_rrv_id),.rplircSv_ptrsz)+?,

(case .rpf\rc!v gtrsi from 0 to 2 of set
0): .rpl5

1):
2]: .rpES 0 2 0]
tes));

! And the key itself, in hex, It may not exist.

it not .rplircSv_rrv] then (
anl$format Lline(0,,indent_Llevel+1,anlrms$_idxkeybytes);
: anl$format_hex(.indent_level+2, key_dsc);

ettt
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: Now we can actually check the integrity of this data record. Most of
! the checking has been done, since 1t involved the fit of the record
! in the bucket. However, we have a few more things to do.

! Check the control flags. Don't get confused by the pointer size.
anlScheck_flags(.b(bsd$L_vbnl,.rplircSb_control] and X¥x'fc',data_flags_def);
! We don't check the VF( header size since the record might be compressed.
it not .rplircSv_rrv] and not .rplircSv_deleted] then statistics_callback(

! 1t we are accumulating statistics, then we need to call the
! statistics callback routine for data records. It wants the
! nominal record lLength, compressed key length, and compressed
! data length,

local
sp: ref block[.b{tel.
nominal_Llength: long;

! 1t the data is compressed, we have to determine its nominal
! length by scanning it. The data record is composed of triplets
! of the form (fragment-length,fragment, compression=count).

if .kplkeySv_rec_compr] then (
sp = .dafa_dsclptrl;
nominal_Llength = 0;

O'O!O!OOgﬂﬂaﬂﬂﬂﬂﬂﬂaﬂﬂﬂﬂﬂﬂﬂ\lﬂ%@’

A At h A NG A b St A ) triviet BB PR N A A

while .sp Llssa .data_dsclptrl+.data_dsc[len] do (
nonlnal_lonafh = .nominal_length + ,sp(0,0,16,0];
sp = .sp ¢ 2+.sp(0,0,16,07;
nominal _Llength = .nominal_length + .sp[0,0,8,0];
: increment (sp);
):

onlidota_callblck(.kp[ke{ib_keysz] +
if .kg[keytv_rec_conpr] then .nominal_length else .data_dscllen]),

.key_dscllen
6data-dsc[len§.

SSIFSR

R et a S LY WL NT NN NN LN NN SN LN LS NS

2

2

2

2 );

5 ! Now we want to advance to the next data record. If there is room in
}? ! the bucket for another, then update the BSD. Otherwise don't touch it,
1; it .b[bstl_of!setJO.ogerall dscllen] lssu .hp(bktSw_freesgacel then (
1 b(bSd$L_offset] = .bTbsd$l_offset] + ,overall_dscllen];

14 return True;
15 ) else

1? return false;
1

18 end;
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0003F 1%:

2%:

3%:

5-509-19 4

3:56:4 AX=11 Bliss=32 V&.0=742 Page 30
f 23:53 ANALYZ.SRCIRMS3IDX.B32; 1 % 12
PSECT SPLITS,NOWRT,NOEXE,2
LASC1I <13>\1ngsv DELETED\ ;
CASCIT  <9>\IRC :
ASCII <« >\1ncsv noprnsz\ :
ASCIT  <15>\IRCSV_RU_DELETE\ :
LASCIT  <15>\IRCSV_RU_UPDATE\ :
PSECT SOWNS ,NOEXE,2
.LONG 0 :
.ADDRESS ﬁ.AAE P.AAF, P.AAG, P.AAM, P.AAl :
.PSECT $CODES,NOWRT,2
-ENTRY  ANLS3PRIMARY DATA RECORD, Save R2,R3,R4,RS,=; 1078
R6,R7,.R8,R9,R10.RT :
MOVL  WANLRMSS BADDATARECFIT, R11 :
MOVAB  ANLSFORMAT_LINE, R10 :
MOVAB LIBSSIGNALS R9 :
MOVL  #ANLRMSS_UNWIND, RS ;
SUBL2 #24, SP :
MOVG  REC gso R3 ;1081
MOVL 12(R : 1108
CMPZV oo 016 4(HP) 8(R3) : 1110
BGTRU s
PUSHL L(RS) IERERE
PUSHL R 3
CALLS  #2, ANLSFORMAT_ERROR :
PUSHL RS 12
CALLS #1, LIBSSIGNAL ;
PUSHL SP’ P 1118
PUSHAB KEY DSC ;
PUSHAB OVERALL DSC :
PUSHR  #*M<R3, R4> :
CALLS #5, CALCULATE DATA_RECORD_INFO ;
MOVIWL OVERALL DSC, P 122
ADDLZ2 8(R3), R7 3
CMPIV ao ple 4(HP), R7 :
BGEQU 2% ;
PUSHL 4(a3) P 1123
PUSHL R 3
CALLS  #2, ANLSFORMAT_ERROR :
PUSHL 8 P 1124
CALLS L1B$SIGNAL :
MOVL ovénALL oscoa RP : 11§9
ADDL3  B(Ré) i(ns) KP P 1130
BLBS  REPORT, HEELY
BRW 10% :
MOVQ  4(R3), =(SP) P 113
PUSHL  #ANLRMSS IDXPRIMREC :
PUSHL  INDENT_LEVEL :
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v04=000 ANLS3PRIMARY_DATA_RECORD = Format e Check a P 14-5-3-1934 ia:%%- 3 ANALYZ.SRCIRMS3IDX.B32;1 "(12)
g oD 000 PUSHL ng :
6A 1] 80 CALLS  #5, ANLSFORMAT_L INE :
E D& 000 C(LRL  =(SP) P 1137
00006 CF 01 FB 0009 CALLS  #1, ANLSFORMAT_SKIP :
0000* CF 9F 0009 PUSHAB DATA_FLAGS_DEF ;1141
7€ 62 9A 00098 MOVZIBL (RP); =(SPY :
000000006 8F DD 0O009E PUSHL  WANLRMSS IDXPRIMRECFLAGS :
54 10 AC 1 €1 000A& ADDL #1, INDERT_LEVEL, Ré :
& DD 000A9 PUSHL  Ré& :
00006 CF 04 FB 000AB CALLS  #4, ANLSFORMAT_FLAGS :
7€ 01 A2 3C 00080 MOVIWL 1(RP), =(SP) ;1145
000000006 8F DD gooaa PUSHL  WANLRMSS_IDXPRIMRECID :
4 DD 000BA PUSHL  R& :
7E D& 000BC CLRL  =(SP) :
6A 04 FB 000BE CALLS  #4, ANLSFORMAT L INE :
39 'Y 04 EO 000C1 BBS ¥, (RP), 9% ;1149
50 62 02 20 EF 000CS EXTZv  #0, #2, (RP), RO P 1152
02 00 0 CF 000CA CASEL RO, #0, #2 :
0014 000¢ 0006 000CE 4$: MORD  5$-4%,- ;
1ot ‘
7€ 05 A2 3C 000D4 5%: MOVZIWL S5(RP), =(SP) ;1153
08 11 00008 BRB 8s :
7€ 05 A2 18 00 EF OOODA 6%: EXTIZV  #0, #24, S(RP), =(SP) P 1154
03 11 000EO BRB 8s :
05 A2 DD 000E2 7%: PUSHL  S(RP) : 1155
7€ 62 02 00 EF O00ES 8$: EXTZV  #0, #2, (RP), =(SP) P 1157
6F 02 €O OOOEA ADDL2 #2. (SP) :
7€ 03 A2 3C 000ED MOVIWL 3(RP), =(SP) :
000000006 8F DD 00OF1 PUSHL  #ANLRMSS_IDXPRIMRECRRV ;1150
5¢ DD 000F7 PUSHL R4 :
7€ D4 000F9 CLRL  =(SP) :
6A 06 FB 000FB CALLS  #6, ANLSFORMAT_LINE ;
1A 62 03 EO OOOFE 98: BBS #3. (RP), 10$ P 1160
000000006 8F DD 00102 PUSHL  #ANLRMSS IDXKEYBYTES : 1161
54 DD 00108 PUSHL  R& :
7€ D& 0010A CLRL  =(SP) :
6A 03 FB 0010C CALLS  #3, ANLSFORMAT_LINE :
08 AE 9F 0010F PUSHAB KEY_DSC P 1162
7€ 10 AC 02 (1 0011; ADDL3  #2, INDENT LEVEL, =(SP) :
00006 CF 02 FB 0011 CALLS  #2, ANLSFORMAT WEX :
0000* CF 9F 0011C 108:  PUSHAB DATA_FLAGS_DEF P nn
50 62 9A 00120 MOVIBL (RP): R :
7€ 50 FFFFFFO3 8F (B 801 3 BICLS #-25%, RO, =(5P) :
04 A3 DD 00128 PUSHL  &4(R3) :
00006 CF 03 fB 001 CALLS  #3, ANLSCHECK_FLAGS :
58 65 03 €0 001 BBS #3. (RP), 15% ;1175
57 . 02 so 801 BBS #2. (RP). 158 ;
02 00006 CF 91 001 CMPB  ANLSGB_MODE, #2 ;1207
07 13 00140 BEQL 118 ;
04 00006 CF 91 14; CMPB  ANLSGB_MODE, #4 :
49 1§ 014 BNEQ 158 :
10 AS 95 00149 118:  T1STB  16(kP) :
25 18 0014C BGEQ  13$% :
51 04 As 00 00145 MOVL  DATA DSC+4, SP :
5 g& 0015 CLRL  NOMIRAL LENGTH :
54 6 3C 00154 MOVZWL DATA_DST, Ré ;
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; Routine Size:

RMS3IDX = Anal
ANLS3PRIMARY D

04

425 bytes,

xlo Things for Prolog 3
TA_RECORD = Format and

%
3
s

[4
43
51

00006

VIB WA —ar
OWO O™

08

Routine Base:

Indexed F 1
Check a P 1
04 Ai 0 00157
51 n 81 B
13 1€ 001
g1 38 016
% s 016
02 A24 E 00166
21 GA 8160
s c0 13%
s 11 001
E D& 0172
06 AE 3C 0017
10 A C 00179
14 A A 00170
10 AS 95 00181
06 19 00184
C AE 3C 00186
6041 9F Q018A
04 FB 0018D
00 ED 0019%
0C 18 0019
10 AE 3C 0019A
SO €O 0019¢
01 DO 001A2
04 001AS
S0 D& 001A6
04 001A8

$CODES + 0428

4

g 15

Sep-19
Sep-19

128:

138:

14%:
15%:

16%:

8¢ f1:38:48

-~ N

— PR O | =D ~N
HO00OMP ~

ORI ~ POV N
s

[

)
2
)

N »70
o

KP)

t

DATA DS
(RO)CR1
#4, ANLSDATA CALLBACK
go‘ #16, 4(HP), R7

6
OVERALL

RO
"

RO

.
L

8(R3
RO

AX=11 Bliss=32 v4.0-742
ANALYZ.SRCIRMS3IDX.B32;1

DATA _DSC+4, Ré
P, Ré

. R2

MINAL _LENGTH
g VPsp . SP

4

f NOMINAL _LENGTH
5P)
TA_DSC, =(SP)
v_BSC, =(SP)
( R1
(
$

S. RO

?SC. RO

Page 32
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1218
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1§
X = Analyze Things for Prolog 3 Indexed f 1§-Se -1984 23:56:4 AX=11 Bliss=32 v&.0-742
¥A_BVTESQ- Format Actual Primary 1&-503-1984 1:53:53 !

?22ttl 'ANLS3FORMAT _DATA_BYTES = Format Actual Primary Record Data Bytes'

Functional Description:
This routine is responsible for fornattin? the actual data bytes
in a primary record for prolog 3 indexed files. Unlike prolog 2,
this is a separate routine because it's a bit messy.

Formal Parameters: g
indent_level The indentation lLevel for the report.
rec_bsd BSD describing COMPLETE primary record.
key_bsd BSD for key descriptor for primary index.

]

i

i

i

i

i

i

i

i

i

! Implicit Inputs:
; global data
 Implicit Outputs:
; global data
i

i

i

i

i
i-

Returned Value:
None

Side Effects:

global routine anl$3format_data_bytes(indent_level,rec_bsd,key_bsd): novalue = begin

bind
.rec_bsd: bsd,
.key_bsd: bsd;

b
k
local
rp: ref block(,bytel,
overall_dsc: descriptor,

key_dsc: descriptor,
data_dsc: descriptor;

! Set up a pointer to the record.

rp = .b[bsd$L_bufptr] + .bl[bsd$l_offset];

! Set up descriptors for the overall data record, the key, and the data
! bytes. We only care about the data bytes.

ialculate_data_record-info(b.k.overall,dsc.key_dsc.data_dsc);

: 1t there any data bytes, then format them in hex. Otherwise tell the user
! there is no data.

it .data_dsc[len] nequ 0 then
. anl$format_hex(.indent_level ,data_dsc)
else
signal(anlrms$_nodata);

return;

Page 33
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RMS31DX

v04-600
78
78

: Routine Size:

RHSS!DI - Anal 2ze Things for Prolo? 3 Indexed F 1% Sep-198 23: Sg 8 AX=11 Bliss=32 v4.0-742
ANLS3FORMAT DA A_BYTES = Format Actual Primary 14-Sep=1984 11:5 ANALYZ.SRCIRMS3IDX.B32;1

15;9 f end;

0000 00000 ENTRY ANLS3FORMAT_DATA_BYTES, Save nothing
SE 18 (2 0000; SUBLZ2 #24, SP
50 08 AC DO 0000 MOVL REC_BSD
51 0C A0 08 A0 C1 00009 ADDL3  8(RD), 12(no>
SE DD 0000F PUSHL SP
0C AE 9F 00011 PUSHAB KEY DSC
18 AE 9F 00014 PUSHAB OVEHALL-DSC
0C AC DD 00017 PUSHL  KEY_BSD
50 DD 0001A PUSHL RO
0000v CF 05 FB 0001C CALLS  #5, CALCULATE_DATA_RECORD_INFO
6 B85 00021 TSTW DATA DSC
0B 13 00023 BEQL 1%
SE DD 00025 PUSHL SP
06 AC DD 00027 PUSHL  INDENT LEVEL
N000G CF 02 FB CO02A CALLS #2, ANLCSFORMAT_HEX
04 ooogr RET
000000006 8F DD 00030 1%: PUSHL  #ANLRMSS NODATA
000000006 00 01 82 888%8 ge%LS #1, LIBSSIGNAL

62 bytes, Routine Base: $CODES + 05D1

oo 3

1245
1248

1260
1265

1270

127

1273
1277
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RMS3IDX RMS3IDX = Analyze Things for Prolog 3 Ind F 15-Sep~1984 23:56:4 AX= - .0-
002-000 CALCULATE _DATA’RECORD Tpo " | 0100 3 Indexed F 1o-0e0 198s §1:05:88  Yanalvoihesnndses%els?, Page o)

kp: ref block[.bytel,
sp: ref block[,bytel,
bits: long;

! Set up pointers to the primary data record and the key descriptor.

.rec_bsd(bsd$l_bufptr] + .rec_bsd[bsd$l_offset];

re
.key_bsd(bsd$l_bufptr] + .key_bsd[bsd$l_offsetl];

kp

;BS g; §§?ttl *CALCULATE _DATA_RECORD_INFO*
78 80 : Description: This routine is called to calculate the lengths of the various
788 281 : Bortions of a primary data record: the overall length, the
789 28§ : ey length, and the data bytes length. This is a complex
;g? 34 ; process, particularly with the advent of recovery units.
79 85 ! Parameters: rec_bsd By reference, the BSD for the data record.
79 86 ! key_bsd By reference, the BSD for the key.
794 287 : overall_dsc By reference, a descriptor to be filled in
795 288 : with a description of the overall record.
796 289 : key_dsc By reference, a descriptor to be filled in
797 290 : with a descr{ption of the key. )
798 29N : data_dsc By reference, a descriptor to be filled in
ggg %3% E with a description of the data bytes.
gg% %gg : Returns: Nothing.
803 296 ! Notes:
804 297 o
805 298 :
806 g99 GLOBAL ROUTINE calculate_data_record_info(rec_bsd: ref bsd,
807 00 ' key_bsd: ref bsd, :
808 301 overall_dsc: ref descriptor,
809 302 key _dsc: ref descriptor,
810 303 data_dsc: ref descriptor) : novalue
38? = BEGIN
06
07 local
08 rp: ref block[,bytel,
0
1
2
3
4
5
6
7
8
3

: The format of a primary data record depends upon the following five things:
: variable-length record

: key compression enabled

. data compression enabled

: data bytes have been deleted

: record update in a recovery unit .

! Set up a 5-bit integer specifying the states of these items.

bits = ((.anngl-fat[fatSv_rtxpe] nequ fat$c_fixed) * 4) +
(.kpLkey$v_key_compr] * 3) +
(.kp geysv_rec-comgrl it 1 B8
(.rf.trcSv_deleted g &
.rpli

! Fill in the overall descriptor with the address of the record and the
! Llength of the overhead portion.

rc$v_ru_updatel;

B U AN W N AN N N AN RO RO N RO RO RIR PO R e et e el e e e e
= OOV®NO NS WN=O VNIV WN <OV NNV NN -
N NANNIN PO RO RO PONU NI NONO N = b b ed e e e wed e ek O

S WN=O VDNV WN—=O

PR TE TR PR TR P P L T R T P L T TR R TR LR R L L L LR L R L LR LR LR L TN P TE TR TE LR T T T T R o e e e Sy gy T T TR 1)

— ol — — ) = — ) — = — — ) —h ) — D ) — — D ) ) ) D ) el ) el ) - - D — - b c—d - D - - - —d - - ) D ) i ) ) D i

Go 00 0o 0o 0o 0o 0o 00 Go 0o 0o Co 0o 0o 0o O 0o 0o G0 o GO 00 0o OU 08 &0 00 00 00 00 o
WA LA UM N U U U N U U U N U U N WA U NN A NN N N N N NN NN
NINUNINLNYRNUNINL AL NININLNININYAININI NI AL NI NI NI NI NN NI N NINI N b cd b b cd il el o o ol e o el e o o i i e o e o oD o el

&~
W
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RMS31DX RMS3IDX = Analyze Things for Prolog 3 Indexed F 15-Sep=1984 23:56:4 AX=11 Bliss=32 V&.0-742 Page 36
v04-000 CALCULATE_DATAZRECORD_?NFO . 14-503-193& f1:5 :Ss ANALYZ.SRCIRMS3IDX.B32;1 “ (16)
o - 133 L d
3 overall _dsclptr] = .rp;
;844 1 9 overall,dscEYen} St 1+
; 84S 1338 2 ¢+
s B4 1339 (if .rplircSv_noptrsz] then 0_else
s B4 1340 & (case .rg[1rc$v,ptrsz] from 0 to 3 of set
; 848 1361 & 0]: :
s 849 1 Lg 4 1J3 T
: 850 1 4 g]: :
;. 8% 1;66 5 J: (anl$format_error(anlrms$_baddatarecps,.rec_bsd[bsd$l_vbnl);
3 85% 1345 & signal(anlrms$_unwind););
; 85 1346 4 tes)
s BS54 1347 2 ):
|s 8% 1348 g ;
3 gg? }ggg g ! Set up a pointer to the portion of the record following the overhead.
; 858 1351 2 sp = .rp + .overall_dscllen]);
; 859 135; 2 ‘ ) :
; 860 1353 2 ! Clear the key and data byte descriptors under the assumption that these
: gg] }%?é % ! portions of the record do not exist.
; 86 1356 2 key_dscllen] = data_dscllen] = 0;
: Bé64 1357 2 )
: 865 1358 2 ! If this record is not an RRV, then we need to analyze the key and data
: 866 1359 2 ! portions. C(ase on the bits we set up to determine the format of these
3 ggg }gg? % ! portions, and fill in the overall, key, and data byte descriptors.
: 869 1362 2 if not .rplircSy_rrv] then
: 870 1363 2 case .bits from 0 to 31 of set
: 8N 1364 2
s 872 1365 2 [(Xb'00000*
; 873 1366 3 %b*'00001'3: (overall _dscllen] = .overall_dscllen] + .anl$gl_fat[fat$w_maxrec];
: B74 1367 3 key_dsc[Ten) = .kp[key$b_keysz];
s B73 1368 3 key_dsclptr] = .sp;
; 876 1369 3 data_dscllen] = .anlSgl_fat[fatSw_maxrec] - .key_dscllen];
3 g;g ;g;g % data_dsclptr] = .sp + .Key_dscllenl;);
: 879 1372 3 [(Xb'00010']: (overall _dscllen] = ,overall_dscllen] + .kp[key$b_keysz];
; 880 1373 3 key_dsc[Ten] = .kp[key$b_keysz];
; 881 1374 2 key_dsclptrl] = .sp;);
; 882 1375 2
; B8B83 1376 2 [(Xb'00100°,
; 884 1377 2 Xb'00110°*,
; 885 1378 2 Xb'10000°*,
; 886 1379 2 Xb'10010°,
; 887 1380 2 Xb'10100°* s
; 888 1381 3 Xb°10110'3: (overall_dscllen) = .overall_dscllen] + 2+.5p[0,0,16,03;
; 889 1382 3 key_dsc[len] = .kplkey$b_keysz];
: 890 1383 3 key_dsclptrl] = .sp + ¢;
P89 1384 3 data_dscllen) = .sp[0,0,16,0] - .ke{_dsc[len];
; 892 1385 2 data_dsclptr] = .sp + 2 + .key_dscllen]););
: 893 1386 g
; B89 1387 [Xb'00101°,
; 895 1388 g Xb'10001"* ;
;896 1389 $°10101'3:  (bind
; 897 1390 3 real _length = ,sp ¢+ .sp(0,0,16,0): word;
. 898 1391 3



RMS3IDX RMS3IDX = Analyze Things for Prolog 3 Indexed f 12 Sep-195 ? !Ax-11 Bl1s «32 v4,0-742 Page 37
00 CALCULATE _DATA_RECORD_INFO 4=Sep-1984 ANALYZ.SRC RHSBIDI.832:1 (16)

; 89% 139 overall dscllen] = .overall dscllen] + 2+,.5p[0,0,16,0];

;. 900 1 9§ key_dsc lenj = kpl ke¥ b keysz&

s 901 1394 key_dsc = ,sp ¢

: 90 1395 data dscFlen] = ,real length - ke{ Stlen]

: 9C 139 data_dsclptr] = .sp +~ .key_dsclTe

;. 904 139

: 905 1398 [Xb°*01000°,

;. 906 1399 Xb6°'01010°,

: 907 1400 %b'01100°,

;. 908 1401 2 Ib*'01110°,

: 909 160; 2 Xb*11000°,

;. 910 140 b'11010°,

;MM 1404 '11100°

: 91§ 1405 %'11110'5: (overall dscllen] = .overall_dscllen] + 2. sg[O ,0,16,01;

;9 1609 3 key_dsc[Ten] = 1rc$c keycnpovh + .spl2,0,8,0

;0 914 1407 3 key_dsclptr] = .sp +°2;

: 915 16408 3 data_dsc len] = ,spl0, 6 16,0] - dsc[len]

;. 916 1409 2 data_dsclptr] = .sp + 2 + .key_ dsc[ enl;)

s Y 1410 2

: 918 1411 2 (x0'01001°,

;. 919 1412 2 b°'01101°,

;. 920 16418 2 Ib*'11001°

;91 16414 3 '11101°5: (bind

: 922 16415 3 real_Llength = .sp ¢+ .sp(0.0,16,0]: word;

;. 92% 1416 3

;. 924 1417 3 overall_dscllen] = .overail_dscllen] + 2+,5p(0,0,16,0];

: 925 1418 3 key_ dsctlen] s 1rc8c _keycmpovh + .sp[Z.O.B.OJ.

;. 926 1419 3 key_dsclptr] = .sp +°2;

;o Ye? 1420 3 data_dscllen] = .real length - f dscllen];

: 928 1421 2 data_dsclptr] = .sp ¢ key_ dsc Tenl;);

: 929 1622 2

: 9 1423 g [inrange,

E 9N 1424 outrangel: (anl$format error(anlrnsS _baddatarecbits,.rec_bsd(bsd$l_vbnl);

: 93 1625 2 signal (anlrms$_unwind);

; 9% 1626 2 tes;

: 9% 1427 2

: ggz }:Sg S ! Ensure that the key and data bytes fit in the overall record.

: 9%7 16430 2 it le; dsc[gtr]* key dscllen] gtru .overall_dsclptrl+.overall_dscllen] or

: 938 1431 2 data_dsclptrl+.data_dscllen gtru .overall_dsclptrl+.overall_dscllen] then

: 328 ;:;g % anl$format_error(anirms$_badkeydatafit.rec bsd[bsdil _vbnl);

;941 16436 2 return;

: 9&; 1435 2

. 9 1436 1 END;

S OINFOR212 Li:1345

: Null expression appears in value-required context

OfFfFC 00000 LENTRY CAL(ULA!E DATA RECORD INFO, Save RZ2,R3,R4,=- ; 1299
6 ,R7,R8,R9R10,R1T 2
58 000000006 00 9¢ 00002 MOVAB LléS‘iGNAL ‘rif :
SA 000000006 8F DO 00009 MOVL  #ANLRMSS_UNWIND, R10 5
§7 046 AC DO 00010 MOVL  REC_BSD,R7 ; 1316
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RMS3IDX RMS3IDX = Analyze Things fcr Prolog 3 Indexed f 1&-50 -1984 23:56:4 AX=11 Bliss=32 v&.0-742 Page 38
vos-éoo (AL(ULAVE-DAYAZRE(DID- NFO v 14-5.3-:9 4 1:53:53 !ANALVI.SRC RMS3IDX.B32;1 ’ (16)
58 oc a7 08 A7 (1 80014 ADDL3  B(R7), 12(R7), RP P
50 8 AC DO 0001A MOVL  KEY BSD, RO : 1317
56 0C A0 A0 C1 0001 ADDL3  8(RD), 12(ROY, kP ;
51 04 00024 CLRL R1 L1327
" 0000G DFf 04 00 sg 0026 CMPZv  #0, 4, FANLSGL_FAT, » :
22 002D BEGL 1% :
1 06 0002F INCL R1 :
51 10 €& 00031 1%: MULL2 #16, RI :
50 10 A 01 06 ;r 00 EXTIV #6, #1, 16(KP), RC : 1328
1 6140 7€ 0003A movae (RTYCROI, R1 : 1327
50 10 A6 21 07 EF 0003E EXTZv #7, #1, 16(kP). RO P 1329
1 6140 DE 00044 movaL (RT)CRO, RI : 13%8
50 68 21 02 SF 0048 EXTIv #2, #1, (RP), RO : 1330
0 6140 3 0004D movaw (RT)[RO1, RO : 13;9
59 x 21 06 EF 00051 EXTZv  #6, #1, (RP), BITS P13
9 50 €0 00056 ADDL2 RO, BIfS ;
5§ ¢C AC DO 00059 MOVL OVERALL _DSC, RS : 133
% AS 58 00 0005D MOVL RP, 4&(RS) s
33 68 04 EG 00061 BBS #6. (RP), 7% P 1339
52 ok 02 00 EF 00065 ExTZv #0. #2, (RP), R2 P 1340
03 00 52 CF 0006A CASEL R2. #0. #3 ;

0017 0012 000D 0008 0006E 2%: .WORD 2:-52,- :
58$-2%.- :
6%-29% :

50 04 DO 90076 3%: MOVL #4, RO 3
1F 11 00079 BRB 8s :
50 05 DO 0007B 4$: MOVL #5, RO ;
1A 11 0007€ BRB 8% ;
50 06 DO 00080 5%: MOVL #6, RO :
15 11 00083 BRB 13 ;
06 A7 DD 00085 6%: PUSHL &4 (R7) P 1344
000000006 8F 0D 00088 PUSHL  #ANLRMSS BADDATARECPS :
00006 CF 02 FB 0008 CALLS #2, ANLSFORMAT_ERROR :
SA DD 0009 PusiL  R10 T 1345
s H 01 B 00095 CALLS #1, LIBSSIGNAL ;
S0 D& 00098 7%: CLRL RO T 1340
5 50 03 A1 0009A 8%: ADDW3  #3, RO, (RS) ;1338
54 65 3C 0009€ movZwL (RS), Sp T 1351
54 S8 (0 000A1 ADDL2 RP, $P :
53 10 AC DO 000A4 MOVL KEY DSC, R3 : 1356
52 14 AC DO 000A8 MOVL DATA_DSC, R2 :
6§ B4 000AC CLRW (R2) s
63 B4 000A CLRW (R3) :
7?7 (x.) gs EO 0008 B3S #3, (RP), 1§s : 1so§
1¥ 00 9 CF 00084 CASEL BIfS, #0. #3) : 136

0040 0075 0055 0055 00088 9%: .WORD 18-9%,- ;

0040 0086 0099 0086 000€0 11$-9% .- ;

0040 00AD 00CF 00AD 000C8 133-9% . - ;

(040 00AD 00CF goao 0000 108-9% .- ;

0040 0086 0099 086 0008 158-9% . - ;

0040 0086 0099 0086 00E0 16$-9% . - ;

0040 00AD 00CF 0AD 000€8 15$-9% .- ;

0040 00AD 00CF 0AD 000F 0 193-95.- :
17$-9% .~ :
19$-9% .-
17$-9% -
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19:-9:.- P
178-9% .=« :
198-9% .« :
178-9% .- :
12:-9:.- :
158-9% = :
168-9% .= :
158-9% .= :
108-9% . - :
158-9% .« :
1gs-9s.- :
15$-9% . :
108-9% .« :
17$-9% .- :
19$-98 . - :
7$-9% .-
108-9% .- :
17$-9% .- :
198-9% - :
178-9% .- :
108-9% :
046 A7 DD 000F8 10$: PUSHL  4(R7) Y1424
000000006 8F DD 000FB PUSHL #ANLRMSS BADDATARE(CBITS -
00006 CF 02 ¥FB 00101 CALLS  #2, ANLSFORMAT_ERROR :
SA DD 00106 PUSHL R10 P 1425
8 01 FB 00108 CALLS #1, LIB$SIGNAL :
2F 11 00108 BRB 14§ : 1363
50 00006 CF DO 0010D 11§: MOVL ANLSGL _FAT, RO P 1366
65 10 A0 A0 00112 ADDW2  16(RO)T (RS) :
63 14 A6 98B 00116 MOVZBW 20(KP). (R3) L1367
06 A3 54 DO 0011A MOVL SP, 4(R3) : 1368
62 10 AD 63 A3 oo11§ suBw3  (R$), 16(RO), (R2) : 1369
50 63 3C 0012 MOVZWL (R3). RO 1 1370
06 A2 54 S0 C1 00126 ADDL3 RO, SP, 4(R2) ;
0OF 11 00128 1§s: BRB 14$ P 1363
50 14 A6 9A 0012D 13%: MOVZBL 20(xF), RO : 1372
65 S0 A0 00131 ADDW2 RO, (R%) ;
63 14 A6 98 00134 MOVZBW 20(KP), (R3) P 1373
06 A3 5¢ DO 00138 MOVL SP, 4(R3) L1374
73 11 0013C 148: BRB 224 ; 1363
50 65 3C 0013 15%: MOVZWL (RS), RO t 1381
51 64 3C 00141 MOVZWL (SP). R1 ;
50 51 €0 00144 ADDL R1, RO ;
65 sg 02 Al 00147 ADDW 05. RO, (RS) ;
f 14 A6 98 0014B MOVZBW 20(KP). (R3) : 1sa§
28 11 0014F BRB 188 P 138
51 64 ic 00151 16%: MOVZWL (SP), R1 : 1390
50 65 3C 00154 MOVZWL (RS). RO P 1392
58 02 A140 9€ 00157 MOVAB  2(R1J[R0O). RS ;
3 58 80 0015C MOVW  R8, (RS) :
63 14 A6 98 0015F MOVZBW 20(KP). (R3) P 1393
37 11 00163 BRB 20% P 1394
50 65 ;c 00165 17%: MOVZWL (RS), RO 1 1405
51 64 3C 00168 MOVZWL (SP). R1 :
50 §1 €O 00168 ADDL R1, RO ;
65 50 02 Al 00165 ADDW3  #2. RO, (RS) :
63 02 A4 98 0017 MOVZBW 2($P), (R3) 1406
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CALCULATE _DATA_RECORD_INFO

62

62

53
55

52

482 bytes,

04
000000006  8F

63
06 A
5
64

1

)

i

6

i

06 A
50

9
-}
50
50

50

50

55

50

50

55

00006 CF

Routine Base:

02 A0
02 A4
§ i
0 A
26 11
64 3C
65 3C
02 A140 9E
56 B0
02 A4 98B
02 A0
02 A4 9E
63 3C
6144 9F
50 A3
02 AD44 9E
63 3¢
04 A3 %1
65 3¢
06 A5 (1
53 D1
0D 1A
62 3¢
06 A2 (O
D1
18
0D
0D
F8
04

$CODES + 060F

14=Sep=1984

VIRV O B~ —mMm

norno

PN =t

(wlelelelelelelelelelelclelelalsialelale el

o
(=lelelelelelelelelelelelelelelelelelelelelels
e e e e e e el o o ol e o o ) et o ol e ol ol

OO = O =DM~ =

001

00103 23s:

O001E1 24%:

s
o
L 4
s

19%:

208:

[ X

ADDW?
MOVAB
MOVZuL
SUBW3
BRB
HOV%HL
MOVZuL
MOVAB
MOvW
MOvVZBW
ADDW?2
MOVAB
MOVZWL
PUSHAB
SUBW3
MOVAB
MOVZuL
ADDL3
MOVZWL
ADDL3
CMPL
BGTRUY
MOVZuL
ADDL3
CMPL
BLEQU
PUSHL
PUSHL
CALLS
RET

i;:gg: 8 AX=11 8lis§;32 V&.0-742

ANALYZ.SRCIRMS3IDX.B32;1

- 2
w

DVWOVOV U LOHT v A OO O~
-
o
(V)
A

(R3)

N
—~
o
o
p—

b Lo ]
W VDD T
0
W
S
P
o

M~ s D
DNV
e
. %
-
~
~ N
0 20
oo
' S

4(R7)
#ANLRMSS BADKEYDATAF T
#2, ANLSFORMAT_ERROR
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ANLS3SIDR_RECORD = Prigt & Check agSecondary Da 14-593-1986 1:5 =53 ANALYZ.SRCIRMS3IDX.B32;1 ‘99(17:

}2;5 !EQttl "ANLS3SIDR_RECORD = Print & Check a Secondary Data Record'

14639 . Functional Description:

1440 - This routine is responsible for printing and checking the contents
4 of a prologue 3 secondary data record (SIDR). SIDRs exist in the
z data buckets of secondary indices.

3 Formal Parameters:

o rec_bsd Address of BSD describing the SIDR.

4 The BSD is updated to describe the next SIDR.

[A key_bsd Address of BSD describing the key for this index.
u report A boolean, true if we are to format the SIDR.

: indent_level Indentation level for the report, if formatted.

global data

Implicit Outputs:
global data

Returned value: :
True if there is another SIDR in the bucket, false if not.

Side Effects:

i
i
i
i
i
i
i
i
i
i
: Implicit Inputs:
i
i
i
i
i
i
i
i
i
i

global routine anl$3sidr_record(rec_bsd,
key_bsd,
report: byte, \
indent_Llevel: long) = begin

bind

~oTr

.rec_bsd: bsd,
.key_bsd: bsd;

local

hp: ref block(,bytel,
sp: ref block[,bytel,
kp: ref block[,bytel,
length: long
key_Llength: [ong.

: bsd,

sidr_pointers: long;

! First we have to ensure that the SIDR record fits in the used space of
! the bucket. If not, we have a drastic structure error. Begin by ensuring
! that the length, which is the first word, fits,

hp = .blbsd$l_bufptrl;

it .blbsd$l _offset] + 1 gequ .hg[bktiu freespacel] then (
anlStormat_errorlanlrms$_baddafarectit,.blbsd$L_vbnl);

: signal (anTrms$_unwind);

— e il il il e e i il i i il il D il il i i i i el i i e ) D ) - ) i i ) i - b ) b b - b - ) - i i il il i il i
PPN R RN AR NN AU NN A NI NI NI RO NI NN b b cd cd e e i o i i o el o e o o o . clh ol ol o ol cdh ol clh il il el

ol ol ok akak o ket 2k b ak ak af aF o 2P o F o oF 0P oF oF oF b b b b oF o o O O O O O O O
NN = O O 00 NN NS AN = O 000 NOM N SNAN) = O O 00 N ON N SN LN = © O 00 N ON N BN AN =2 O O 00 O N B Wi —

VOV OV NN NNNNNNNNOOOOCOOCOOOOVWVWVIWVIWVINNUVIWAS S SN SN N
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100§ 1494 : Now we calculate the Length of the entire SIDR record. It's Zust the

100 1495 : 2=byte length plus the number of bytes specified by the length. while

}88? }239 ! we're at it, calculate the Length of the key.

100? 1498 kp = .kEbsdtl,bufptr} ¢+ .k[bsdS$l _offset];

100 1499 sp = .blbsd$l _bufptr] ¢+ .blbsd$l_offset];

1008 1500 length = g o

1009 1501 .sp[0,0,16,0];

1010 150§ key_length = (it .kpfkeytv_ke‘,conpr] then

1011 150 .5p(2.0,8,0] + ircSc_keycmpovh

101; 1504 else

}8}‘ }282 .kplkey$b_keysz]);

}8}2 }ggg . Make sure the entire SIDR fits in the used space of the bucket.

1017 1509 it .blbsd$l _offset] + .length gtru .hp[bktSw_freespacel then (

1018 1510 anl$format_error(anlrms$_baddatarecfit,.blbsd$l_vbnl);

}838 }g}; g : signal (anTrms$_unwind);

R R R R T A R R T R R T R TR TR TR TR TR I )



T e i

NN

o3

gwwww
WSS NN = O O 00 O N BN iy

mjelelelelelelelelelelelolelalelel-]

W INN

e e e o e e o o e o ) D D D e ) e D b

N=OVoO~N

o
&~

) el i el e el ) D el e e D ) i i il ) ) i o D
(VL LV TV TV TV W TV IV TV IV TV TV TV W TV TV TV I T T TV )

—
WA = O OO0 NN B NN = OOV ~NO NS

WNINIWN NN PO NI NININI NI NININ = = b ed ed b

:ig D; :ggl‘ze Things for Prolog 3 Indexed F 12-%29-1932 i?g?&fgs !Ax-11 Blisi-SZ V4.0-742

ORD = Print & Check a Secondary Da 14=Sep=19 ANALYZ.SRCIRMS3IDX.B32;1

! Now we can format the SIDR record fixed portion, if requested.

! Start with a nice header.

anl$format_Line(3,.indent_Llevel,anlrms$_idxsidr,.bl(bsd$L_vbnl,.bl[bsd$l_offsetl]);
anl$format_skip(0);

! ALL we have to format is the key. Build a descriptor for it and
! dump it in hex.

gleformot_line(O..indent_level*1.anlrnsi_idxkeybytes):
egin

local A

key_dsc: descriptor;

if .report then (
build_descripior(key_dsc, .key_length,spl2,0,0,01);
anétformat_hex(.1ndent_tevel¢ .key_dsc);
end;

);

Page 43
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.

1
: There is nothing more to check about the fixed portion of the SIDR.
! 1t we aren't displaying this record, then we want to check all of

;

P4

2

2

2

2

:

wo

! the SIDR pointers.

sidr_pointers = 0;
if not .report then (

! Set up a BSD to describe the first SIDR pointer. This includes
. setting the work longword to the number of bytes worth of
! pointer existing in the record.

init_bsd(p);

cogy bucket(b,p);

pE sd$l_offset] = .E bsd$l_offset] + 2 + .key_Length;
plbsd$l_work] = .spl0,0,16,0] = .key_Llength;

. Now we can loog through each pointer, checking its integrity,
. and counting them as we go.
do increment(sidr_pointers) while anl$3sidr_pointer(p,false);

) anl$bucket(p,=1);

statistics_callback(

It we are accumulating statistics, we want to call the data
record callback routine and tell it the overall record length,
compressed key Length, and compressed data length. The latter
makes no sense for SIDRs. We also need to tell it the number
of SIDR pointers in this record.

-

anl$data_callback(,length,
6key_length.

: .;idr_pointers);

Page &4
’ (19)
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002-000 ARt ion NELOKE"-TPrine (oaornton 3 Induned f 12-300-1080 f1:88:98  YANADYSLiegade.ye.0ols?, 9€ (20}
3 108; 15N ! Now we want to advance on to the next SIDR in this bucket. if there
f }83‘ } ; ! isn't room for one, then we're done. Otherwise update the BSD.
: 1085 1574 if .blbsd$SL offset] + ,length Lssu .hp[bktSw freespacel then (
: 100? 1?75 bbSdsL _offset] = ?b[bsd!l_of?set] 0'.len9gh;
: 108 157? return True;
: 1088 157 ) else
: 1089 1578 return false;
1090 1579
: 109 1580 1 end;
0FFC 00000 .ENTRY ANL$3SIDR_RECORD, Save R2,R3,R4,R5,R6,R7,~ ; 1465
R8,R9,R107R11 :
SE 28 C% 0000 suBL2 #«l, SP :
56 04 AC 00 0000 MOVL REC_BSD, R6 16N
52 08 AC DO 00009 MOVL KEY BSD, R2 : 1472
SA 0OC A6 DO 0000D MOVL 12(R6), WP : 1488
57 08 A6 DO 00011 MOVL 8(R6), R7 : 1489
50 01 A7 9t 00015 MOVAB 1(R7), RO :
50 04 AA 10 00 €D 00019 CMPZV  #0, #16, 4(WP), RO :
18 1A 0001Ff BGTRU 1% :
04 A6 DD 00021 PUSHL  &(R6) © 1490
000000006 B8F DD 00024 PUSHL  #ANLRMSS BADDATARECFIT :
0000G CF 02 FB 0002A CALLS #2, ANLSFORMAT ERROR :
000000006 8F DD 0002F PUSHL  #ANLRMSS UNWIND : 149
000000006 00 01 FB 00035 CALL #1, LIBSSIGNAL 3
50 0c A2 08 A2 €1 0003C 1%: ADDL 8(R2), 12(R2), kP : 1498
59 57 0C A6 (1 00042 ADDL3  12(R6J, R7, SP t 1499
6E 69 3C 00047 MOVZWL (SP), LENGTH : 1500
6F 02 CO 0004A ADDL2  #2, LENGTH :
09 10 A0 06 E1 0004D BB( #6, 16(KP), 2% : 1502
58 02 A9 9A 00052 MOVZIBL 2(SP), KEY LENGTH : 1503
58 02 €0 00056 ADDL2  #2, KEY_LENGTH :
04 11 00059 ERE 33 3
S8 14 A0 9A 00058 gs: MOVZBL 20(KP), KEY_LENGTH : 1505
04 AE 57 66 C1 0005F 3%: ADDL3  LENGTH, R7,74(SP) . 1509
04 AE 04 AA 10 00 ED 00064 CMPZV  #0, #16, 4(HP), &(SP) :
18 1€ 00068 BGEQU 4% :
04 A6 DD 0006D PUSHL  &4(R6) : 1510
000000006 8F 0D 00070 PUSHL #ANLRMSS BADDATARECFIT :
0000G CF 02 FB 00076 CALLS #2, ANLSFORMAT ERROR :
000000006 8F DD 00078 PUSHL  #ANLRMSS UNWIND ;151
000000006 00 01 FB 00081 CALLS #1, LIBSSIGNAL :
44 0C AC E9 00088 4$: BLBC  REPORT, 5% P 1518
S7 0D 0008C PUSHL R7 : 1519
04 A6 DD 0008E PUSHL  4(R6) :
000000006 8F 0091 PUSHL #ANLRMSS IDXSIDR ]
10 AC DD 00097 PUSHL  INDENT_LEVEL 3
03 DD 0009A PUSHL #3 3
0000G CF 95 FB 0009C CALLS  #5, ANLSFORMAT_L INE 3
E D& 000AT CLRL  =($P) 11520
00006 CF 01 FB 000A3 CALLS #1, ANLSFORMAT SKIP s
00000000G 8F DD 000A8 PUSHL #ANLRMSS _IDXKEYBYTES : 15¢%
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7€ 10 AC 91 00A ADDL3  #1, INDENT_LEVEL, =(SP) ;
5 o« ooa CLRL™  =($P) :
00006 CF g FB CALLS #3, ANLSFORMAT LINE :
08 AE 8 00 08 MOVL KEY LENGTH, KEY DSC : 1530
AE og A9 9F 85 MOVAB 2(R9), KEY Dsc+t :
08 AE 9F 0 PUSHAB KEY_DSC P 153
7€ 63 AC 02 (1 ooocs ADDL3  #2, lnosur LEVEL, =(SP) :
00006 CF 02 FB 000CB CALLS  #2, ANLSFORMAT_HExX :
S8 D& 00000 5%: CLRL SIDR Poxnreas : 1538
47 0C AC €8 00002 BLBS REPORT, 7 ;1539
18 00 6F o gg 2C 08833 MOVCS #0, (SP), po, #24, P ¢ 1545
10 AE 65 70 80000 MOVQ (R6), T : 1546
18  AE 08 A6 DO 00OE1 MOVL  B(R&J, T+8 :
24 AE 1« A6 DO 000E6 MOVL 20(R6), T+20 ;
7¢ D& 000EB CLRL -(SP) :
14 AE 9F 000ED PUSHAB T :
00006 CF 02 FB 000F0 CALLS  #2, ANLSBUCKET :
18 AE 02 A847 9E 000FS MOVAB  2(KEY_LENGTH)[R7], P+8 . 1547
50 69 3C 000FB MOVZWL (SP),"RO : 1548
N N 50 S8 (3 000FE SUBL3 KEY LENGTH, RO, P+20 :
58 D6 00103 68%: INCL SIDR POINTERS : 1553
7€ D& 00105 CLRL -(SPY :
14 AE 9F 00107 PUSHAB P :
0000V CF 02 FB 0010A CALLS  #2, ANLS3SIDR_POINTER :
F1 SO EB8 0010F BLBS RO, 6% ;
7E 01 CE 00112 MNE GL 1 -(SP) ;1555
14 AE 9F 00115 PUSHAB ;
00006 CF 02 FB 00118 CALLS 02. ANLSBUCKET ;
02 00006 CF 91 0011D 7$: (MPB  ANLSGB_MODE, #2 : 1570
07 13 00122 BEQGL 8s ;
04 00006 CF 91 00124 CMPB ANLSGB_MODE, #4 ;
0 12 00129 BNEQ 9% ;
S8 DD 00128 8%: PUSHL  SIDR_POINTERS :
7€ D& 0012D CLRL -(SPY ;
58 DD 0012F PUSHL KEY_LENGTH :
0C AE DD 00131 PUSHL LENGTH ;
00006 CF 06 FB 00134 CALLS  #4, ANLSDATA CALLBAC ;
04 A 06 AA 10 00 ED 00139 9%: CMPIV  #0. #16, 4(HP), 4(SP) L1574
08 1B 00140 BLEQU 10§ ;
08 A6 6 €0 00142 ADDL2 LENGTH, B(R6) : 1575
50 01 D0 00146 MOVL #1, RO T 1578
04 00149 RET :
50 D& 0014A 10%: CLRL RO :
04 0014C RET T 1580
s Routine Size: 333 bytes, Routine Base: $CODES + 07F1



- et

Vi W

16
ﬂﬂSBGDl R SBiDI - Anal;ze Things for Prolog 3 Indexed F 1§-S¢p-1984 23:56:48 VAX=11 Bliss=32 V&.0-742 Page 47
V04 ANLS3SIDR_POINTER = Format & Analyze SIDR Point 14=Sep=1984 11:52:5 CANALYZ.SRCIRMS3IDX.B32;1 (21
1093 81 XIsbttl "ANLS3SIDR_POINTER - Format & Analyze SIDR Pointer'
1094 8§ e
095 8 Functional Description: : :
84 This routine is responsible for formatting and analyzing one of the
09 85 ointers in a SIDR record. There is one pointer for each record
098 86 aving the segondary ke;_gresent in the SIDR header. This code is
099 g; for prologue 3 indexed files.
0 89 formal Parameters: : :
0 90 pointer_bsd Address of BSD describing the pointer. The work
0 9N longword in the BSD is assumed to contain a count
9§ of remaining bytes in the SIDR record.
9 report Boolean, true 1f we are to format the pointer.
94 indent_Llevel Indentation lLevel for the report.

Implicit Inputs:
global data

Implicit Outputs:
global data

Returned Value: 3 ; .
True if there is another SIDR pointer, false otherwise.

Side Effects:

global routine anl$3sidr_pointer(pointer_bsd,
report: byte, -
indent_Llevel: long) = begin

bind
p = .pointer_bsd: bsd;

own

o

pointer_flags_def: vecto;[Q.long] initial(

L

0,

lo Yo Yo Yo Ne Yo Yo Lo Yo o No Yo o Ho Yo Xo Yo Lo Yo Xo To Yo Jo SV IV IV IV IV IV IV (W IV (W W W IV IV IV IV IV IV IV o=

............'....................-.......u.c.......l.....l.t...........-...........l...........-.........-.-......

— i D e ) ) D ) e D i ) D e e D e i D D b e D el ) ) D e ) D ) D e D D ) ) D D ) D e el D ) d D D ) ) ) ) D

T S NS S W S ———————— PP R P 4 b T I I R
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NO WS NN = O VNS NN = OV NO WS WIN = OOV NS NN = OV~

o~ bbbbbbbbuwwuwuugwummwmmmnnuu.a...._._..._..a_o...goo
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1
1
1
1
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2
2
2
2
2
2
2
2
2
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2
2
2
2
2
2
2
2
2
2
2
2

3 0,
g oS gplit byte (Xascic 'IRCSV_DELETED'),
6 62 uplit byte (Xascic 'IRCSV_NOPTRSZ'),
; gg 3pl1t byte (Xascic 'IRCSV_RU_DELETE"),
9 62 uplit byte (Xascic 'IRCSV_FIRST_KEY')
0 62 ¥
1 62
% 63 local

63 p: ref block(,bytel,
4 63 ength: long;
¢ 63
7 63 ! We know the SIDR record fits in the used space of the bucket, because
g g% ! that was checked in ANL$3SIDR_RECORD.
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ANLS3SIDR_POINTER = Format & Analyze SIDR Point 14-Sep-1984 11:52:5 ANALYZ.SRCIRMS3IDX.B32;1
}g s ! So we can calculate the overall Length of the pointer.

1640 = .plbsd$l_bufptr] + .plbsd$lL_offset];

1641 an thp= s 1?0 .p "

164% (if .pplircSv_noptrsz] then 0_else

1643 & (case .pplircSv_ptrsz] from 0 to 3 of set

16446 & 0]: 4;

1645 & 1] I

1646 & %J: 6;

1647 S b (anl$format_error(anlrms$_baddatarecps,.plbsd$l_vbnl);
1648 & signal (anlrms$_unwind););

1649 & tes)

1650 2 )3

1651 2 g ' 3 .

165% 2 ! Make sure the entire pointer fits in the SIDR record. If not, that's a

}gg‘ % ! drastic structure error.

1655 3 it .length 2tru .pLbsd$|l_work] then ( :

1656 3 anl$format_errorTanlrms$_badsidrptrfit,.plbsd$l_vbnl);

}ggg % : signal (anTrms$_unwind);

Page 48
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302}680 ANLS SlDR_POlN‘ER FO?Mot ) Analyge SIDR Point 14~ Sep-19gk 11:53:58 ANALYZ.SRCIR HSS .B32:1 (22)
: 11?§ 1659 ! Now we can format the SIDR pointer if requested.

P17 660 ¢
; 1174 1661 if .report then (
: 1178 166%
: 1129 }664 3 . Format the flags.
: }};8 1225 3 anl$format_flags(.indent_Llevel ,anlrms$_idxsidrptrflags,.pplirc$b_controll,pointer_flags_def);
: 1179 1666 3 ;
; 1180 1667 3 ! And the record ID and bucket VBN, if present.
: }131 lbgg 2 tf not Lirc$v_noptrsz) then (
itn . irc$y g
: 11%% 1270 4 s ggliformat ?1ne(0..1ndent Level.anlrmss idxsidrptrref,.ppl(1,0,16,0]1,.pplircSv_ptrszl+2,
: 1184 1671 5 (case .pp[1rc v ?trsz ] Trom 0 to 2 of set
; 1185 167§ ) (0]: .pp[3,0716,0];
: 1186 1673 S [1]: .pp[3.0.24.03;
: 1187 1676 S EE): .pp(3,0,32,0];
; 1188 1675 & tes));
: 1189 1676 3 );
: 1190 1677 2 ):

< 20
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§=32 V4.0-742 P
v04-000 ANLS3SIDR_POINTER = Format & Analyze SIDR Point 14=Sep=1984 11: ANALYZ.SRCIRMS : age(

3 50
RMS3IDX.B32;1 )

23

: 119 1678 S . Now we have to check the record pointer. The only thing to check is
: }}g‘ }g;g ! the control flags. Don't get confused by the pointer size.
% }}gg 1231 g anl$check_flags(.p(bsd$l_vbnl,.pplircSb_control] and Xx'fc',pointer_flags_def);
;1197 168§ g . Now we want to advance on to the next pointer. Reduce the count of
: 1158 1684 2 ! remaining b(tes. If it goes to 2ero, there are no more pointers.
;};88 }232 5 ' 1t it doesn't, then update the BSD.

1201 1687 g plbsd$l_work] = ,plbsd$l_work] - .length;

1202 1688 if .plbsSd$l_work] gtru 0 then (

1203 1689 g plbsd$l_offset] = .p(bsd$!_offset] + .length;

LR R R

else

1206 1692 2 return false;

1207 1693 2

1hs or212 L o

Null expression appears in value-required context

'
e 90 8e B B BB BB We B

.PSECT SPLIT$ NOWRT,NOEXE,?2

L4 &5 54 4S5 4LC 4S5 44 SF S6 24 43 52 49 OD OOO7E P.AAJ: .ASCII <13>\IRC$V_DELETED\ -
SA 53 52 54 S50 4F 4E SF 56 24 43 52 49 OD 0008C P.AAK: .ASCII <13>\IKC$SV_NOPTRSZ\ :
56 45 &C 45 A4 5 S5 3 & B M O 53 2; 88823 P.AAL: .ASCII <15>\IRC$V RU_DELETE\ ;
&5 4B SF S4 53 S2 49 46 SF S6 2 43 52 gs 88833 P.AAM: .ASCII <15>\IRCSV_FIRST_KEY\ ;

PSECT $SOWNS NOEXE,2
00000000 00000000 00000007 0003C POlNTER_fLAgg_DEF:

LO - 0. 9% :

00000000°* 00048 .ADDRESS P.AAJ :

00000000 0004C LONG 0 :

00000000°* 00000000° 00050 .ADDRESS P.AAK, P.AAL :
00000000 00058 LONG 0 :

00000000* 0005C .ADDRESS P.AAM :

.PSECT SCODES ,NOWRT,?2

00FC 00000 .ENTRY ANLS$3SIDR POINTER, Save R2,R3,R4,RS5,R6,R7 ; 1610
57 000000006 00 9€¢ 00002 MOVAB LIBS$SIGNAL, R7 3
56 000000006 8F DO 00009 MOVL #ANLRMSS UNWIND, Ré6 :

54 04& AC DO 00010 MOVL POINTER BSD, R4 : 1615

s; 0C A& 08 A& (1 00014 ADDL3  B8(R4), T2(RL), PP : 1640

3 62 04 EO 0001A BBS #4, (PP), 6% : 164%

55 62 02 00 E£F 0001E EXTZv  #0, #2, (PP), RS : 164

03 00 5SS CF 00023 CASEL RS, #0, #3 3
0017 0012 000D 0008 - 00027 1%: .WORD $-1% 3
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53 04 DO 000§F 2%: MOVL #4, R3 :
1F 11 00032 BRA 7$ :
53 05 DO 00034 3% MOVL #5, R3 3
1A 11 00037 ERE 7% ;
53 06 DO 00039 4% MOVL #6, R3 :
15 11 0003¢C BRB 7$ 2
04 A& DD 0003E 5%: PUSHL  4(R4) : 1647
000000006 8F DD 00041 PUSHL  #ANLRMSS BADDATARECPS :
0000G CF 02 FB 00047 CALLS #2, ANLSFORMAT_ERROR :
56 DD 0004C PUSHL Ré6 : 1648
67 01 FB 0004E CALLS #1, LIBSSIGNAL :
53 D& 80051 6$: CLRL R3 : 1643
53 D6 00053 7%: INCL LENGTH © 1641
14 A4 §3 D1 00055 CMPL LENGTH, 20(R4) : 1655
13 18 00059 BLEQU 8§ :
04 A& DD 00058 PUSHL  4(R4) : 1656
000000006 8F DD 0OOSE PUSHL  #ANLRMSS BADSIDRPTRFIT :
00006 CF 02 FB 00064 CALLS #2, ANLSFORMAT_ERROR :
56 DD 00069 PUSHL R6 : 1657
67 01 FB 00068 CALLS #1, LIBSSIGNAL :
55 08 AC E9 0006E 8$%: BLBC REPORT, 14$ ;1661
0000* CF 9F 00072 PUSHAB POINTER_FLAGS_DEF ; 1665
7€ 62 9A 00076 MOVZIBL (PP), =TSP) :
000000006 8F DD 00079 PUSHL  #ANLRMSS IDXSIDRPTRFLAGS ;
0OC AC DD 0007F PUSHL  INDENT _LEVEL 3
00006 CF 04 FB 00082 CALLS  #4, ANCSFORMAT_FLAGS 3
3C 62 04 EO 00087 BBS #6, (PP), 14% : 1669
50 62 02 00 EF 00088 EXTZV  #0, #2, (PP), RO ;1671
02 00 S0 CF 00090 CASEL RO, #0, #2 :

0014 000C 0006 00094 9% WORD  10$-9%.- ;
11$-9%.,- 3
12$-9% ;

7€ 03 A2 3C 0009A 10%: MOVZIWL 3(PP), =(SP) ;1672
08 11 0009E BRB 13s :
7€ 03 A2 ; 18 00 EF 000AD 11$: EXTZV  #0, #24, 3(PP), =(SP) ;1673
03 11 000A6 BRB 13§ :
03 A2 DD 000A8 12%: PUSHL  3(PP) : 1674
143 62 02 00 EF OO0AB 13%: EXTZV  #0, #2, (PP), =(SP) : 1670
6E 02 €0 00080 ADDL2 #2, (SP) :
7E 01 A2 3C 00083 MOVZWL 1(PP), =(SP) :
000000006 8F DD 000B7 PUSHL  #ANLRMSS IDXSIDRPTRREF ;
0C AC DD 0008BD PUSHL  INDENT_LEVEL 3
7€ D& 000C0 CLRL -(SP) F
0000G CF 06 FB 000C? CALLS  #6, ANLSFORMAT LINE ;
0000* CF 9F Q00C? 148:  PUSHAB POINTER FLAGS_BEF : 1681
50 62 9A 000CB MOVZBL (PP), RO 3
7€ 50 FFFFFFO3 8F CB 000CE BICLS #-25%, RO, =(SP) ;
04 A4 DD 000D6 PUSHL 4 (R&) :
00006 CF 03 FB 000D9 CALLS  #3, ANLSCHECK FLAGS :
14 A4 53 cg 000DE SUBL2 LENGTH, 20(R4Y : 1687
08 13 000E? BEQL 15% : 1688
08 A4 53 0 000E4 ADDL2 LENGTH, B(R4) : 1689
50 01 00 800E8 MOVL #1, RO ; 1692
04 000EB RET :
50 D& OOOEC 15%: CLRL RO ;
04 000EE RET ; 1694

-
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v04-000 ANL$3SIDR_POINTER - Format & Analyze SIDR Point 14=Sep=1984 11:

; Routine Size: 239 bytes, Routine Base: $CODES + 093E

3 146 VAX=11 Bliss=32 V&4.0-742 Page 52

5
52:59 [ANALYZ.SRCIRMS31DX.B32;1 _ (23)

: 1209 1695 1
: 1210 1696 0 end eludom
.EXTRN LIB$SIGNAL
: PSECT SUMMARY
3 Name Bytes Attributes
©OSPLITS 186 NOVEC,NOWRT, RD ,NOEXE,NOSHR, LCL., REL, CON,NOPIC,ALIGN(2)
;. SOWNS 96 NOVEC, WRT, RD ,NOEXE,NOSHR, LCL, REL, CON,NOPIC,ALIGN(2)
: $CODES 2605 NOVEC,NOWRT, RD , EXE,NOSHR, LCL, REL, CON,NOPIC,ALIGN(2)
- Library Statistics
o i s T s Symbols =—ssamee Pages Processing
2 File Total Loaded Percent Mapped Time
: _$2558DUA2B:[SYSLIBILIB.L32;1 18619 38 0 1000 00:01.8
3 Intformation: 2
. Warnings:
; Errors:
| 3 ' COMMAND QUALIFIERS
. BLISS/CHECK=(FIELD,INITIAL OPTIMIZE)/LIS=LISS:RMS3IDX/0BJ=0BJS:RMS3IDX MSRCS:RMS3IDX/UPDATE=(ENHS:RMS3IDX)
Size: 2605 cude + 282 data bytes
Run Time: 00: 4 8
Elapsed Time: 02:10.9
L ines/(PU Min: 2172

Lexemes/(PU-Min: 20559
nenoq{ Used: 287 pages
(ompilation (omplete
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